UGC NET 2022 EDUCATION

Topic:- 9_PARTA_Set1

1) 'Who amongst the following is considered as father of Sociology?

frfetias & 5 g araams 1 =% 9 919 27
[Question ID = 1][Question Description = 101_09_Education_0CT22_Q01]
1. George Pa}'n@
EEkics
[Option ID = 1]
2. Max Weber

5w ==

[Option ID = 2]
3. August Comte

AT =
[Option ID = 3]
4. Maclver

Heharsar

[Option ID = 4]

2) According to Sankhya Philosophy, the mind or the intellect 1s :

[Question ID = 2][Question Description = 102_09_Education_0CT22_Q02]
1. Unconscious material entity

s wifiw e (T

[Option ID = 5]
2. Bub conscious material entity

sgae ifes oxg (wed)

[Option ID = 6]
3. Consecious material entity

= witfe g (Ted)

[Option ID = 7]
4. Consciousness orintellect (Chaitanya)

= (e a1ty (S0
[Option ID = 8]
3) In the context of a Path (marga) to reach a state free from misery, as recommended by
Buddha, which of the following is not amongst those eight steps or rules (also ecalled astangika
— marga)?
T [ 7R A AT A TEeA F A A A T 5 3 s e e w, R 8 | S e
TS =AM s A (T, wert A o, S e ) 3 T R

[Question ID = 3][Question Description = 103_09_Education_0CT22_Q03]
1. Right conduct



WE A=

[Option ID = 9]
2. Right effort

[Option ID = 10]
3. Right knowledge

wH T

[Option ID = 11]
4. Right speach

[Option ID = 12]

4) Which of the following was NOT the aim of eraft based education recommended by Mahatma
Gandhi?

Frefeteas & 5 == @ ogey W g owme ¢ e syt e we i E

[Question ID = 4][Question Description = 104_09_Education_0CT22_Q04]
1. Meeting the expenses of the teachers salares

Tgsi % 997 =98 W Ie

[Option ID = 13]
2. Creation of a speacilized class of craftsmen

e & e = Fi

[Option ID = 14]
3. Dignity of labour

AQ = HHEH

[Option ID = 15]
4. Minimization of drift of rural youth to the cities in seareh of jobs

T 5 o wrdto amnad % v o w9 el W e =

[Option ID = 16]

5) The banking concept of education’ is coined by :
ey § S amaror § T3

[Question ID = 5][Question Description = 105_09_Education_0CT22_Q05]
1. Paulo Freire

[Option ID = 17]

2. Ivan Ilich

a1 3o o

[Option ID = 18]
3. JF. Herbert

E R

[Option ID = 19]
4. Johann Pestalozzi

[Option ID = 20]



6) Which of the following is NOT a correct statement with regard to Indian Philosophy?
Pt 2 9 % o o w2 % aed O w8 =0 27

[Question ID = 6][Question Description = 106_09_Education_0CT22_Q06]

1. Indian philosophy denotes the philosophical speculation of ancient and modern Indian
thinkers

W e e et st s e § ot e = ot 2

[Option ID = 21]

Indian philosophy denotes the philosophieal speculation of Indian thinkers who are
essentially Hindus

wridty Tl = wnd el & ot e = gt @ 5 wfeds g d

[Option ID = 22]

atheists

YA 73 I qEATE o & g S g 2 | =91 A g 91 A A

[Option ID = 23]
4. Indian philosophy is marked with its devotion to the search for truth

TG 239 Fe % w@E & Hid SHied 5 W e §

[Option ID = 24]

7) Aristotle’s teaching became the philesophical foundations for:

e, 1 Susy Faftes = fa el e s

[Question ID = 7][Question Description = 107_09_Education_0CT22_Q07]
1. Realism

AT % o

[Option ID = 25]
2. Idealism

FeEiETE & T

[Option ID = 26]
3. Naturalism

TiTETG & forg
[Option ID = 27]
4. Existentialism

At = T

[Option ID = 28]

8) What is the exact title of Justice Verma Commission Report on Tescher Education?

T T = e aut eram i ford = 598 w2

[Question ID = 8][Question Description = 108_09_Education_0OCT22_Q08]
1. Vision of Teacher Education in India - Regulatory Perspective

e 4 areads: e f ofR - fafmms (o) o

[Option ID = 29]
2. Vision of Teacher Education in India : Quality and Regulatory Perspective

e o e Te i 5 e e e () ot

[Option ID = 30]
3. Vision of Teacher Education in India : Quality Perspective

Indian philosophy denotes the philosophical speculation of Indian thinkers— theists or



e | arearye T 1 R - e doieE

[Option ID = 31]
4. Vision of Teacher Education in India : Status and Quality Perspective

s o s e o g« Rl (v we e doie
[Option ID = 32]

9) Which of the following has recommended that an Independent Regulatory Authority for
Higher Education (TRAHE) should replace NCTE, AICTE, UGC and others?

fr=fifian @ & fem R 6 2 fs v= B 5 Fom = = s e (s8= et
apifife) & e Ht & 4, v e i A A4, oo Fi s mm S wme v st s =t

[Question ID = 9][Question Description = 109_09_Education_0CT22_Q09]
1. National Knowledge Commission

A S AT

[Option ID = 33]
2. Yash Pal Committee

e wfafa

[Option ID = 34]
3. National Policy on Education —1986

it e Hifd - 1086

[Option ID = 35]
4. Kothari Education Commission

et fran s

[Option ID = 36]

10) Which of the following is NOT & type of budgeting?
e et o B e e o et 1

[Question ID = 10][Question Description = 110_09_Education_0CT22_Q10]
1. Formula budgeting

W ==
[Option ID = 37]
2. Programme budgeting

Frd= ==

[Option ID = 38]
3. Performance budgeting

FEEER (wR ) w=en

[Option ID = 39]
4. Planned budgeting

% -
[Option ID = 40]

11) Which of the following constitutional provisiens is made to elimate discrimination of caste,
creed or colour in any government aided school?

Foreft ot wroeertt =rraar wm Remem 3wy, w7 (Fr2) o1 oo 3 onew w0 ewe wae w09 & e Bt
T i W FoTaE W e T 2

[Question ID = 11][Question Description = 111_09_Education_0CT22_Q11]



1. Article 16
T 16

[Option ID = 41]
2. Article 28

FTTIE 29

[Option ID = 42]
3. Article 30

=aE 30

[Option ID = 43]
4. Article 32

I 32

[Option ID = 44]

12) Learning through Informal Educaton is called:
FeteiE fra & aem @ des w5 o T

[Question ID = 12][Question Description = 112_09_Education_0CT22_Q12]
1. Open Learning

o faner

[Option ID = 45]
2. Formal Learning

Hrrarme e

[Option ID = 46]
3. Insightful Learning

spagfeyet foam

[Option ID = 47]
4. Learning by chance or incidental Learning

[Option ID = 48]

13) Bandura's ‘Social Learning Theory' is considered as the bridge between :
Avgn % EHITEE He W g w0 e S w0 E a2

[Question ID = 13][Question Description = 113_09_Education_0CT22_Q13]
1. Behavioriem and Gestalt Psychelogy

SATEETETE, T Teaes TATEE & 6=

[Option ID = 49]
2. Functionalism and Gestalt Psychology

FH =T 3 T A = B

[Option ID = 50]
3. Behaviorism and Cognitivism

sATERIETS T A = g

[Option ID = 51]
4. Structuralism and Funectionalism

=SS W6 FTEEEE & A

[Option ID = 52]



14) A Projective technigue is used for the assessment of -

W T SN § T S

[Question ID = 14][Question Description = 114_09_Education_0CT22_Q14]
1. Aptitude

Hfirels = 7 w1
[Option ID = 53]
2. Academic Achievement

Syl IqerET = T 3

[Option ID = 54]
3. Intellipence

HigF @9 F 0 T
[Option ID = 55]

4. Personality
T & 0T 3

[Option ID = 56]

15) Who rejected the ideas of mind and consciousness as subject matter of Psychology?
gt < ey 5 & =9 § witrss 3 Seeen 3 oen s e asen

[Question ID = 15][Question Description = 115_09_Education_0CT22_Q15]
1. Sadler

5

HEet

[Option ID = 57]
2. Watson

TFEHEA

[Option ID = 58]
3. James

=]

[Option ID = 59]
4. Wundt

)
[Option ID = 60]

16) According to National Council for Teacher Education (NCTE), which of the following 1= a
composite institution?

it sreqres fre wftvg (NCTE) % sian, Pafafas 4 2 st o wifen (e 5o 29

[Question ID = 16][Question Description = 116_09_Education_0CT22_Q16]
1. an institution offering a single undergraduate programme

T W W AT S Fwe e

[Option ID = 61]
2. gn institution offering a single postgraduate programme

TR W G TERE (T TE0E) S e A

[Option ID = 62]
3. an institution offering multi-teacher education programmes



T o St - P g R T A A

[Option ID = 63]
4. aninstitution offering a single diploma programme

[Option ID = 64]

17) The duration of Master of Education (M_.Ed ) programme has been inereased to two years by
the NCTE vide its regulsation of

-

fovr = (M Ed) w@#8 41 sty 91 faetoiaa 5 5 55 9 99 % f&qes (7o) gen wd
(NCTE) 7 31 591 7% 791 =01 &

[Question ID = 17][Question Description = 117_09_Education_0CT22_Q17]
1. 2014

=7 20144

[Option ID = 65]
2. 2013

=7 2013 =

[Option ID = 66]
3. 2012

o9 2012 =

[Option ID = 67]
4. 2015

74 2015 %
[Option ID = 68]

18) The National Couneil for Teacher Education (NCTE). as a regulatory body, came into existence
on:

T W T TEE (T = A 3, T e TE E W A, A T oA
[Question ID = 18][Question Description = 118_09_Education_0CT22_Q18]
1. 174 Aygust, 1992

17 sy, 1992 =

[Option ID = 69]
2. 17% August, 1994

17 sy, 1994 5

[Option ID = 70]
3. 17% August, 1995

17 aren, 1995 =i

[Option ID = 71]
4. 17 August. 1996

17 aes, 1996 571

[Option ID = 72]

19) Which of the following institutions has heen entrusied the rezponsihility of in-service teacher
education for primary / elementary schools as per National Policy on Education, 18867



Tt i, 1ose F owEEE FEETET 9 T S T W omaEs | T e § o

[Question ID = 19][Question Description = 119_09_Education_0CT22_Q19]
1. Institute of Advanced Studies in Education (IASE)

TH=gIe A% sEAes EE ke (a uwm )

[Option ID = 73]
2. Colleges for Teacher Education (CTEs)

witetors 3w oo wgm (i 4 4) =

[Option ID = 74]
3. Dastrict Institute of Education and Training (DIET)

feff® wigae o wopem s 3w (B and 4 4) =

[Option ID = 75]
4. State Colleges of Education

T % ATTs (e gareeTeE] %

[Option ID = 76]

20) Broad functions-of the State Council of Educational Research and Training (SCERT) are :
7= Hgs FEEYH UE WEET UG (T H F 9n ) & 0 w5

[Question ID = 20][Question Description = 120_09_Education_0CT22_Q20]
Desipn and development of imtegrated teacher esducation programmes of 4 year
duration

4 o £ sl = wteR (ST awars e sEE =1 Teas = e

[Option ID = 77]
2. Preparation of code of professional ethics for teachers

TEs + T gieeee W s 9T W =1

[Option ID = 78]
3. Development of curriculam. text books, training, research and innovation

1.

TETE , TeTdEeaT, ST, FEYE 0 TaEn W

[Option ID = 79]
4. Accrediation of teacher education institutions and their monitoring

areaTT Ty Hmnad = geEa (s e s T (i)

[Option ID = 80]

21) Discipline based model of curriculum design is basically:

forra (feffeem) smrfes wregsm i stfisesn & o1gs 4o
[Question ID = 21][Question Description = 121_09_Education_0CT22_Q21]
1. Learner Centred
Forarefi Fgm 2

[Option ID = 81]
2. Teacher Centred

I e E

[Option ID = 82]
3. Buhject Centred

forrs fzm #



[Option ID = 83]
4. Social Reconstruction Centred

[Option ID = 84]
22) Which aspeet of CIPP model of Curriculum involves material time, physical and human
resources needed for the effective working of the school?

wrewEn %t 3t @ (CIPP) aisw & o wge 0 fomrem % wureht = w=rem 73 wlt, =, difes
e wrEte e s w87

[Question ID = 22][Question Description = 122_09_Education_0CT22_Q22]
1. Context

el o

[Option ID = 85]
2. Input

e A

[Option ID = 86]
3. Process

e 1

[Option ID = 87]
4. Product

Ei
[Option ID = 88]
23) In India. the National Cuwrnculum Framework for Teacher Education (NCFTE), 2009 was
prepared by -
qree § oA I & o T Tegas wed (09 #oww A 2), 2000 Faw |y T

[Question ID = 23][Question Description = 123_09_Education_0CT22_Q23]
1. National Curriculum Committee of India
AT TET Mo T T

[Option ID = 89]
2. National Commission for Teacher Education

T T M s g

[Option ID = 90]
3. National Couneil of Educational Research and Training

e fifew smae o wiiew ofeg (w A am d) oo

[Option ID = 91]
4. National Couneil for Teacher Education

T AT e s g

[Option ID = 92]

24) The National Council for Teacher Education (NCTE) 1s headed by

T T e aiE =

[Question ID = 24][Question Description = 124_09_Education_0CT22_Q24]
1. Chairperson

A E B R



[Option ID = 93]
2. Director

e w2

[Option ID = 94]
3. Co-ordinator

[Option ID = 95]
4. Secretary

[Option ID = 96]

25) Which of the following techniques is NOT covered under non-probability sampling?

Ftafes © & 2 o 55+ T vumrs (Fm-weeted) =Iest = aee AF o 27

[Question ID = 25][Question Description = 125_09_Education_0CT22_Q25]
1. Stratifiad random sampling technique

e (wfeerds) T5es =l =

[Option ID = 97]
2. Purposive sampling technigque

-d_q:gqnqm Tﬂ’v‘.’ﬂf -.-iq.-ﬁm

[Option ID = 98]
3. Incidental sampling technigue

[Option ID = 99]
4. Quota sampling technique

i =qzl TEAE

[Option ID = 100]

26) Which of the following best illustrates an example of a mixed-methods research study?
Preaferfias & & wim Rim-Tgh 3HYR a1 % ST g F9e €1 3 i 37

[Question ID = 26][Question Description = 126_09_Education_0CT22_Q26]
1. Bahil eonducts interviews and observations in his study of transitional students

Hifem Troiirs (@it kil % w9 woaws  meTER 18 s = 2

[Option ID = 101]
2. Rekha interviews parents and their children regarding transition

T T F Ty © et A e w9 ST v R

[Option ID = 102]
3. Sameer looks at percentages of successful transitions from the district and class grades

T foet w9 Fan 5 TS ¥ 9% WOWS arel F Sasdar 1 oEd 3
[Option ID = 103]
4. Reshma conducts chservations and supplements her findings with class grades

TnT A O R S RT=TE & " e e = Sy w5 2

[Option ID = 104]

27) A secondary source of a particular historical research :



foreft 1w Tt Wl smeum = o o =5E (F):

[Question ID = 27][Question Description = 127_09_Education_0CT22_Q27]
1. will always he a secondary source for all the historical researches

[Option ID = 105]
2. will always be a primary source for all other historical researches

[Option ID = 106]
3. may he a primary source for another historical research

[Option ID = 107]
4. cannot be used:as a source in any other historical research

o Tt oft Wi asmmem o gis % =9 9 yam 34 fear = o=@
[Option ID = 108]

28) The test-retest, the split half the equivalent/parallel form and the rational equivalance
methods are used for the asseszment of -

qitan/etatien, a-fnfam, sumwilferEss 9 ot 2 seem F aghe gaee a9 2

[Question ID = 28][Question Description = 128_09_Education_0CT22_Q28]
1. walidity of a test

T Theg Fit ST % o T

[Option ID = 109]
2. usability of a test

w witger ) sErd /st F o w

[Option ID = 110]
3. reliability of a test

wF vt & e & T i

[Option ID = 111]
4. validity and reliability of a test

= whee & S st e & T

[Option ID = 112]

29) Who anmongst the following coined the terms Formative' and Summative’ evaluation?

Pt & & R wres W@ BT I e (o) s ahs R
[Question ID = 29][Question Description = 129_09_Education_0CT22_Q29]
1. Michael Sadler
TTEEE HTe
[Option ID = 113]
2. Michael Serieven

AT Wi=3 (Serieven)

[Option ID = 114]
3. Knut

T2 (knut)
[Option ID = 115]



4. Alken Howard

[Option ID = 116]

30) Partfolio development is basicallya :
qreniteE EEE g R U

[Question ID = 30][Question Description = 130_09_Education_0CT22_Q30]
1. 'Spontaneous process

T Tha (IS ) AT

[Option ID = 117]
2. Btatic process

& g

[Option ID = 118]
3. Dynamic process

AT W

[Option ID = 119]
4. Teacher-centred process

[Option ID = 120]

31) ‘Shiksha Vaani is an sudio based learning initistive started by :
Bregr-art’ wh smm e des & uwe 2, e geame @

[Question ID = 31][Question Description = 131_09_Education_0CT22_Q31]
1. National Counecil for Teacher Education (NCTE)

e e T afoes (NCTE) oo

[Option ID = 121]
2. Rehabilitation Council of India (RCI)

WTH FEE wieE (RCD) g

[Option ID = 122]
3. University Grants Commission (UGC)

favafaersn smgm smam (UGC) 5o

[Option ID = 123]
4. Central Board of Secondary Education (CBSE)

F=5a qreArs e & (CBSE) g

[Option ID = 124]
32) The Natiorial Institute of Educational Planning and Administration (NIEPA) is located in -

¥t s P aft woes 5w (NIEPA) e 2

[Question ID = 32][Question Description = 132_09_Education_0CT22_Q32]
1. Mumbai

T i

[Option ID = 125]
2. Hyderabhad



FomEE

[Option ID = 126]
3. New Delhi

4 feg

[Option ID = 127]
4. Chennai

EEeE ]

[Option ID = 128]

33) In which year the Persons with Disabilities (PWD) Act was enacted?

Fvmn =afE [ Teeam wafdn wiafm e i g e e mar?

[Question ID = 33][Question Description = 133_09_Education_0CT22_Q33]
1. 1992

1992 4

[Option ID = 129]
2. 1895

10955

[Option ID = 130]
3. 1998

1998 #

[Option ID = 131]
4. 2006

2006 §

[Option ID = 132]

34) ICF framework for classification of health and dizability related domains is given by:
ey un AT Aeaun g5 (SE) % StEor 57 MTS 9 wh el Tea T E

[Question ID = 34][Question Description = 134_09_Education_0CT22_Q34]
1. UNICEF

s g
[Option ID = 133]
2. UUNCRPD

7w am d g gm

[Option ID = 134]
3. WHO

TR W o g0

[Option ID = 135]
4. UNESCO

[Option ID = 136]

35)  The term UNCRPD is associated with:
77 # An g 9 (UNCRPD) st #raiee 2

[Question ID = 35][Question Description = 135_09_Education_0CT22_Q35]



1. United Nations Convention on Regulations for Persons with Disabilities
feman saiwal = vaemTH 2 94w U WOl (F5H) |

[Option ID = 137]
2. TUnited Nations Confederation on Rights of People with Disabilities

fegarn safwal & ARl W 499 T8 FFherA |

[Option ID = 138]
3. United Nations Convention on the Rights of Persons with Disabilities

femamn safirt & sffae W 53w g TR (FEE) #

[Option ID = 139]
4. United Nations Conclave on the Rights for People with Disahbilities

femarn wafwat & arfor o wgw U F0W (F0d) §
[Option ID = 140]

36) In India, the statutory body to set norms and standards for teacher education in special
education is:

wves G i e 5 For sporm- v 1 7 e e & Ferhe £ S (Treyeh) T

[Question ID = 36][Question Description = 136_09_Education_0CT22_Q36]
1. Rehabilitation Centre of India

[Option ID = 141]
2. Rehabilitation Council of India

[Option ID = 142]
3. National Council of Rehahilitation Education

TEw TEtE T ot
[Option ID = 143]
4. National Council for Teacher Edueation
e wEATs fE 9y
[Option ID = 144]
37) A teacher i= explaining about & model of change by giving an example of converting a cube of
ice into a cone of ice. The teacher is talking about -

w= f19% 31sH-FA (cube of ice) it AFA-F17 (cone of ice} T Foe 1 FaF™ o T2 T » HisA
Fmioenwm?  fEsamwd:

[Question ID = 37][Question Description = 137_09_Education_0CT22_Q37]
1. Kurt Lewin's model

?_Fé e % Uisw % 90 © (Kurt Lewin's model)

[Option ID = 145]
2. Kotter's model

F7oH 7= & o0 % ( Kotter's model )

[Option ID = 146]
3. Kubler-Ross's model

FEEl-T9 Ofge & 71 § (Kubler-Ross's model)

[Option ID = 147]
4. Jeff Hiatt's model



3% fRans % nfsw % 91 § (Jeff Hiatt's model)

[Option ID = 148]

38) The basic principles of ethics in using open educational resources have been laid down by -
e g AT % I O W (T % genid fgEE S we e e

[Question ID = 38][Question Description = 138_09_Education_0CT22_Q38]
. British Educational Research Association (BERA)

Fafen v frod wifiem (F@ ey o

[Option ID = 149]
2. Massachusetts Institute of Technaology (MIT)

TR T A T (W i #) g

[Option ID = 150]
3. Creative Commons (CC)

farafem =fqm (i ) gro

[Option ID = 151]
4. Open Educational Resources (OER) Commons

A e fds (a3 am) Fi0g g
[Option ID = 152]

39) Which of the following Sustainable Development Goals (SDG) ensures ‘inclusive and squitable
quality education’ ?

faeafefian & & S o e we (@ & &), wwaeh o wwg g weed e’ aReE =
#7
[Question ID = 39][Question Description = 139_09_Education_0CT22_Q39]
1. 8DG3

el

[Option ID = 153]
2. 8DG 4

THE A4

[Option ID = 154]
3. 8DG5H

e E s

[Option ID = 155]
4. 8DG6

fer = il

[Option ID = 156]

40) Who was the main proponent of Understanding Level of Teaching?

Foraor & % T 51 WIS Yo S 77

[Question ID = 40][Question Description = 140_09_Education_0CT22_Q40]

1. Morrison

HifTe
[Option ID = 157]
2. Hunt



7
[Option ID = 158]
3. Herbart

TR

[Option ID = 159]
4. TRobert Glaser

[Option ID = 160]

41) Which of the following is/are not principla(s) of inclusive Education?
(A)  Segrepated Education (B} Zero rejection
(C)  Appreciation of student diversity (D) Professional collaboration
Choose the correct answer from the options given below :

Fretertam & & wian /& wrash g -0 /= g = 27

(&) EeEd (Anfmi) (B) 5 mpEE (S )
(€  fomf < R § =l (D) wETETE TEA (FrEEEE FieaE)
43 fom e e 4 @ wd wow =am i

[Question ID = 41][Question Description = 141_09_Education_0CT22_Q41]
1. (A)only

A (A)

[Option ID = 161]
2. (C)and (D) only

== (C) ¥ (D)

[Option ID = 162]
3. (B)only

%o (B)

[Option ID = 163]
4. (B) and (D) only

a9 (B) 3 (D)

[Option ID = 164]

42) Choose the visual conditions which are types of refractive disorders —
{A)  Myopia
(B)  Amblyopia
(C)  Hyperopia
(D)  Astigmatism
(E) Strabismus
Choose the correct answer from the options given below :



Siege=dt = el 1 599 9 1 s (feles) amT & maw 3

fiagr=m (Myopia)
Azt (Amblyopia)

()
(B)
(€
(I
(E)

s | Hyperopia)
Fr=g9Fam (Astigmatism)

ST (Strabismus)

= fow v feeey 5 5 o8 5 9 = fieT

[Question ID = 42][Question Description = 142_09_Education_0CT22_Q42]
1. {A) and (D) only

ad (A) 3@ (D)

[Option ID = 165]
2. (B), (C) and (E) only

4 (B), (C) 3t (B)

[Option ID = 166]
3. (B)and (E) only

e (B) #717 (E)

[Option ID = 167]
4. (A), (C) and (D) only

Faa (A, (C) =D )

[Option ID = 168]

43) TIdentify the barriers to effective communication :

(A)
(B)
(©
D)
(E)

Noize

Negative attitude
Unclear graphics
Slang language
Positive Behaviour

Choose the correct answer from the options given below -

N Fa /e § sy = 9EEE

(A) 7k
(B) =wmrer gEwm

(C) 3w Sat=a (mtes)

M  #=THE

(E)  H*aEsh =958t

Frar-for T formdl 8 2 w8 o s w9 i

[Question ID = 43][Question Description = 143_09_Education_0CT22_Q43]
1. (B). (C) and (D) only

a9 (B), (C) =t (D)

[Option ID = 169]
2. (A}, (B). (C) and (D) only

= (A), (B), (C) =7t (D)

[Option ID = 170]
3. {A) and (E) only



= (A) 31 ()
[Option ID = 171]

4. (C), (D) and (E) only
== (C), (D) =k (B

[Option ID = 172]

44) BWAYAN stands for -

(A) Study Webszites for Automated Young Active Minds

(B) Study Webs of Active Learning for Young Aspiring Minds
(C)  Study Website for Actual Lesrning

(D) Study Webs for Action Learning of Attentive Minds
Choose the correct answer from the options given below :

‘e (SWAYAM) ® ared 2+
(A) Tz SEETse wh ot A WEe T
(B) T8 999 AT UFLE ST W A7 WO AvEes
(Cy =2 Smmge Wit UaTe oA
D) T 99 B TS A S 9eE meey
= fog o s @ 9 7 = = =99 i -
[Question ID = 44][Question Description = 144_09_Education_0CT22_Q44]
1. (D) only
359 (D)
[Option ID = 173]
2. (B)only

Fa# (B)

[Option ID = 174]
3. (A)yonly

+a (A)

[Option ID = 175]
4. (A)and (D) only

&= (A3 D)

[Option ID = 176]

45) Programme learning is based on the principle of :
(A) Conditioned Learning Theory (B) Copnitive Learning Theory
(C) (Gestalt Learning Theory (D} Operant Conditioning Theory
Choose the correct answer from the options given helow -

(A) ol (wdwrs) uftrm Rz w (B) Fres o fgm W
(C)  Teefee e g (D) =9z sZw fagr
e fim o foweal @ ® wd T = it -

[Question ID = 45][Question Description = 145_09_Education_0CT22_Q45]
1. (A) and (B) only
#aw (A) o (B)

[Option ID = 177]
2. (B)and (C) only



Fa= (B) 11 (C)

[Option ID = 178]
3. (A)and (C) only

Fae (A) 37 (0)

[Option ID = 179]
4. (D)only

F (D)

[Option ID = 180]

46) Organisational climate

(A)  Determines work performance of an individual

(B) Does not affect sentiments of an individual employvee

(C)  Affects the level of job satisfaction of an individuallemployves
(D)  Affects work efficiency of an individual/employee

Choose the correct answer from the options given below -

(A) T TR W S A W A e |
(B) ot oot /e o STt 9 W W T e |
(C)  Taht =i /3= 1 % (9m) Fgt & ¥ & THE 9= E
0 I o= B e T M et T e el
= fan m fawed 5 8 of o W 99T e
[Question ID = 46][Question Description = 146_09_Education_0CT22_Q46]
1. {A). (B) and (C) only
== (A), (B) 3t (C)
[Option ID = 181]
2. (B). (C) and (D) only
=4 (B), (C) 3R (D)
[Option ID = 182]
3. {A). (C) and (D) enly
= (A), (C) = (D)
[Option ID = 183]
4. (A)and (D) only
Faw (A) 3t (D)

[Option ID = 184]

47) Which of the following is/are example(s) of alternative assessment?

{A)  Response Journals
(B)  Portfolio
(C)  Typical end term examination

Choose the correct answer from the options given below -



Ffafas © 8 sh-m/s-2 S=ftos aeem (@ee=) #1/% sgem 237

(A)  wiEhEE =i

B) it

(C) o Tt (i) =han

= Tem o e © 2 o 3w = i

[Question ID = 47][Question Description = 147_09_Education_0CT22_Q47]
1. (A)only

FaE (A)

[Option ID = 185]
2. (A)and (B) only

o (A) 3t (B)

[Option ID = 186]
3. (B) only

#a (B)

[Option ID = 187]
4. (B) and (C) only

Fa= (B) &t (C)

[Option ID = 188]

48) In Andragogy:

(A)  Learning of Adults is there within its scope
(B)  Learners are independent and strive for self direction in learming
(C)  Teacher decides what, how and when anything is to be learned

(D}  Motivation stems from self esteem. confidence and recognition that comes from
suceessful performance

Chooze the correct answer from the options given below -
TN
(A)  =m W e e s 3 g |
B fErfimmiHidshdfedem it sEsmEsed)
(€ wmmw b em i e, st Seadfaawd |
(D) o e wayE, Svar of grEa | s w2 S g% w1 e # 9 2 |
1 Tom o Pt © & wE S E A A
[Question ID = 48][Question Description = 148_09_Education_0CT22_Q48]
1. (A), (C) and (D) only
5 (A), (C) 3K (D)

[Option ID = 189]
2. (A), (B) and (D) only

= (A), (B) 3 D)

[Option ID = 190]
3. {A), (B) and (C) onlv

=@ (A), (B) =t (C)

[Option ID = 191]
4. (B}, (C) and (D) only

F=w (B), (C) =it (D)



[Option ID = 192]

49) Pedagogy:

(A) I= a method and practice of teaching
(B) Encompasses teaching style, teaching theory and feedback assessment
(C)  Involves the style of transacting the curriculum content 1n class room

(D) Requires teachers not to get influenced due to difference in the age of students and
nature of content to be delivered

Choose the correct answer from the options given below :

AT (FErE)

(A) 27T W T A0 AR E

(B) o geare dtedt, s figre ol Freds g st 2

(€ @ =gy § mezea fam o0 = o (g=fFen) =0 it f5 mhe 2

D) 1 =ifea 2 fr Faw = R & o e @ werd o9 o= s 1 wsfe @ s
B =z

e fom o fawmdl © @ v I 7 =99 Fitan

1

[Question ID = 49][Question Description = 149_09_Education_0CT22_Q49]
- (A). (B) and (C) only

e (A), (B) #dt (C)

[Option ID = 193]
2. (B). (C) and (D) only

F=9 (B), (C) 23t (D)

[Option ID = 194]
3. {A)and (D) only

e (A) 3 (D)

[Option ID = 195]
4. (B) and (D) only

=4 (B) 3 (D)

[Option ID = 196]

50)

Competency Based Assezsment:

(A) Should be done just after the end/completion of the programme

B) Should take into its scope all measurable components/aspects that need to be assessed
(C) Does not demand flexibility with regard to use of different tocls/approaches

(D)  Should be fair and objective

Chooze the correct answer from the options given below -

TEAT A ATEE (e

(A) T 5w B % e 9 e e e |

(B) = Hws L A A WO YRR S A 97 (F=9) § 7 =i
(C) T Tl sprifaa % wauts % wad § w9 =)
(D) W ¥ e (ArEEEE) T = |

e fou T el 8 & w8 00 o =8 S

[Question ID = 50][Question Description = 150_09_Education_0CT22_Q50]
1. (A). (B) and (C) only

Fa9 (A), (B) #11 (C)

[Option ID = 197]



2. (B), (C) and (D) only

& (B), (C) =i (D)

[Option ID = 198]
3. (A), (B) and (D) only

= (A), (B) o (D)

[Option ID = 199]
4. (Ayand (B) only

= (A) 3 (B)

[Option ID = 200]

51) The standard error of mean :
(A)  has a greater value than the standard deviation of individual secores
(B) decreases with the inerease in sample size:
(C)  1s less for the samples drawn from heterogeneous group
Choose the correct answer from the options given below -
o Fte aeE (Tsd wE o )
(A) &I ST S IS e S Oae #eE T 2
B) Huw wE =l  qe w3
(C) Toom e wE @ fog =l S e s gar 2 |
9 o o Rewedt 79 w8 v ey S
[Question ID = 51][Question Description = 151_09_Education_0CT22_Q51]
1. {A) only
== (A)

[Option ID = 201]
2. (B)only

7 (B)
[Option ID = 202]
3. (A) and (B) only

Fad (A) ¥ (B)

[Option ID = 203]
4. (A)and (C) only

A= (A) 31 (C)

[Option ID = 204]

52) The emphasis of Learning Outcome-based Curriculum Framework (LOCF) ison :

(A) application of knowledge

iB)  providing holistic educational experiences to students

(C) designing a national common svllabus for a particular programme of study
D} changing most of books in a college or umiversity library

Choose the correct answer from the options given below -



AR T ST TegEE T (T STea s e g B9 a9) #1599 59 3

(&) TEETETW
(B)  om 91 T A Y9 TR FA W

(C) T e weamm des 5 fom oF o9 wdm TemEE 9 09E W

(D) T meiiaenem w9 AvaEaeE F Tl A ST T 3T /A W
BT A A P T e B e e T B T e 11 e

[Question ID = 52][Question Description = 152_09_Education_0CT22_Q52]
1. (A) and (B) only

WA (A) 2tz (B)

[Option ID = 205]
2. (C)and (D) enly

== (C) =5 D)

[Option ID = 206]
3. (C) only

=4 (0)

[Option ID = 207]
4. (D) only

=4 (D)
[Option ID = 208]
53) The programmes on Teacher Education recognized by National Council for Teacher Education
(INCTE) are :

(A)  Diploma in Pre-school Education (DPSE)

(B) Diploma in Elementary Education (D E1LEd )

(Cy  Diploma in Arts Education (Performing Arts)

(D) Master of Physical Education (M P.Ed )

(E}Y  Bachelor of Arts in Education (B.A. — Education)
Choose the correct answer from the options given below :

s s e afts (NCTE) 5/ a=aa1siH aeamds: ey Seed 3 -
(&) o= Brr=ef g o fe=m (DPSE)

(B) wet= foen d feemm (D.ELEA)

(C) e foan § feiiny (Performing Arts)

(D) it fey § wrewEs (MP.Ed)

(E)  firegn d = =a=13 (B.A — Education)

et o o fawsar F o = 390w =99 St

[Question ID = 53][Question Description = 153_09_Education_0CT22_Q53]
1. (A) and (B) only

e (A) 3 (B)

[Option ID = 209]
2. (B)and (C) only

Fa@ (B) ¥t (C)

[Option ID = 210]
3. (D)and (E) only

= (D) 3T (E)



[Option ID = 211]
4. (A), (B).(C) and (D) only

=4 (A), (B), (O) 3 (D)

[Option ID = 212]

54) Learning:

{A)  Implies change in behaviour

(B)  Takes place through experience and practice

(C) Also implies changes due to growth and maturation
(D)  Implies that change must be relatively permanent
Chooze the correct answer from the options given below -

Hr (=)

(&) F fm sz A wET R

(B)  @mys 3 rerE % Hien 9 oga A

(C) 5 e fawm ot wimsa & = wiEd 5 3
D) & aifigra 2 Fr o e el g SR |
Fra for 7 Fawedt § © o = 0 = e

[Question ID = 54][Question Description = 154_09_Education_0CT22_Q54]
1. (A). (B) and (C) only

=EE (A), (B) 3T (C)

[Option ID = 213]
2. (B), (C) and (D) only

Fa9 (B). (C) 2 (D)

[Option ID = 214]
3. (A), (B) and (D) onl¢

== (A), (B) =it D)

[Option ID = 215]
4. [A), (C) and (D) only

4w (A), (C) 2k (D)

[Option ID = 216]

55) Jung has claszified human beings according to their :

(A)  social behaviour (B) body built
(C) energy level (D) mood
Choose the correct answer from the options given below :
4 (Jung) 3 T H wfie AR
(A) TS wEEn (T faed) ® sEn (B) Wi o w9 (A fae) % aen
(€ w % o (Tl ) F e D) FAEm (z) % AT
A fom o el @ B w1 I W = A
[Question ID = 55][Question Description = 155_09_Education_0CT22_Q55]
1. (A) only
ae (A)

[Option ID = 217]
2. (B) only



== (B)

[Option ID = 218]
3. (C)only

Fad (C)

[Option ID = 219]
4. (D) only

#@ (D)

[Option ID = 220]

56) Terms of Reference of National Knowledge Commission were to:

(A}  Build excellence in the educational system to meet the knowledge challenges of the
21= century

(B}  Promote creation of knowledge in Science and Technology Laboratories
(C)  Promote knowledge application in preservation of environment
(D) Improve the management of institutions engaged in intellectual property rights
Chooze the correct answer from the options given below -
T T A & wee e (olw arw wem) o
(A) 2 I T A S S W = o s Y | S
(B) o it T wATTTeeT § W A = Serm T
(C)  tan =i wiye @ § = I = A
(D) s ¥y wiEEw § 0 g ¥EeT § qYw ==
e o o foweal § © T8 39T 27 =99 fife -
[Question ID = 56][Question Description = 156_09_Education_0CT22_Q56]
1. (A). (B) and (C) only
e (A), (B) 3ttt (C)
[Option ID = 221]
2. {A), (B) and (D) cnly
¥ (A), (B) 3 (D)
[Option ID = 222]
3. (A). (C) and (D) only
Faw (A), (C) 3t @)
[Option ID = 223]
4. (B, (C) and (D) only
Fa (B), (C) 2t (D)

[Option ID = 224]

57) Egqual educational opportunity means :

(&) Equal aecezsibility to have suitable education

(B) Free education for girls only

(C) Equality of educational standards for minorities and disabled only
(D)  PBoth(A) & (B) are correct

(E) Both(B) & (C) are correct

Choose the correct answer from the options given below -



A= HiEs s g a2

(&)  THgw g 3 Aoe fine (wEeTEe)

(B) o= Siema = fog Fras e

(C) o0 doTasTH U5 I T g O S BT
D) T (&) R (B)FE R

(E) 3 (B)#Fh (C)=d 2

et Tom e et § 4 wed wue 37 #7 w e -

[Question ID = 57][Question Description = 157_09_Education_0CT22_Q57]

1. (A) only

A (A)

[Option ID =

2. (B)only

== (B)

[Option ID =

3. (D) only

=7 (D)

[Option ID =

4. (E) only
=4 (B)

[Option ID

225]

226)

227]

= 228]

58) What in vour opinion. is an Individualized Educational Plan (IEP)?

(&)
(B)
()
D)

Rehabilitation and Caresr Plan for a student

Family Support Plan

Statement of Instructional Supports and Services reguired by a student
Transition statement for a student with disability from home to school

Choose the correct answer from the options given below :

s e =1 ([EP), 309 TR, #41 §7

@) forereli 2 e

(B)  wfEm T T

(C) Touw i w50 5 man ¥EEe wega Us dora 5 =6
(D) o fomm 70 = # o o= = 9owE (giem) =
e Tou e oo # & 5 390 = =99 Fiteu -

[Question ID = 58][Question Description = 158_09_Education_0CT22_Q58]

1. (A)only

== (A)

[Option ID = 229]
2. {A)and (B only

F= (A) 3 (B)

[Option ID = 230]
3. (C)only

#=a (C)

[Option ID = 231]
4.

(C) and (D) only



= (C) (D)

[Option ID = 232]

59) ‘NISTHA is:

{A) A national missionte improve learming out comes at elementary level
(B) A programme launched by Rehabilitation Council of Indis for its staff

(C) A capaeity building programme for improving guality of school education through
integrated tedcher traiming

(D) A programme launched by University Grants Commission
Choose the correct answer from the options given below -
.2 f . (Fee /NISTHA) -
(A) wrfes 0w BT & T S S e 5 Tl O IR e
(B) v wleft % fo v gete sfon g o= v o st )
(C) e g gfem gm feerem fivn < T 1 wE = S o g Fafn s 2
D) Toafrrem wmgs am oo oF G @ sdEn 2
et fom o el § F mow ST S0 oA S0

[Question ID = 59][Question Description = 159_09_Education_0CT22_Q59]
1. {A)and (B) only

= (A) 2 (B)

[Option ID = 233]
2. (B). and (D) only

=+ (B) it (D)

[Option ID = 234]
3. (A) and (C) only

= (A) 3 (C)

[Option ID = 235]
4. (A)and (D) only

F=7 (A) 1t (D)

[Option ID = 236]

60) Which of the following i= FALSE about the Concept of ‘Blended Learning™

(A)  Itis Mix Web based Technology

(B) It is Mix Instructional Technology

(C)  Itis Mix Pedagogical Approach

(D) Itis related to Assignments of the Students
Chooze the correct answer from the options given below -

soiee AT FEuTe & Hed § Geteiae 4§ Fe-w v 27

(&) vz b ag aafe w0 2 B) == e s 7= 2
(Cy g fibrs fgremreia 3o 2 (D) ¥8 @l # wari & w2
= Tog 7o fomedl 4 © wad 39 IO T FA

[Question ID = 60][Question Description = 160_09_Education_0CT22_Q60]
1. (D) only

79 (D)
[Option ID = 237]
2. (A)only



Fo= (A)

[Option ID = 238]
3. (B)and (C) only

o= (B) 31 (C)

[Option ID = 239]

4. (C)only

% (C)

[Option ID = 240]

61) Which of the following is not a platform of MOOCs?

(&)
(B)
©
D)
(E)

Coursera

Edx

Future learn

MIT (Massachussetts)
SWAYAM

Choose the appropriate answer from the options given below -
fFatetigs 4 @S- 559 (MOOCs) =71 wiew (79) 78 27

&

(&) F=Em

B dEEw

C)  wERTH

@) w.add (Feregem)
(E) w=m

et Tom e et § | wed S9w 397 #7 =Y A

[Question ID = 61][Question Description = 161_09_Education_0CT22_Q61]
1. {A)and (B) only

wae (A) @ (B)

[Option ID = 241]

- (C) and (A) only

Fae (C) FT(A)

[Option ID = 242]

- (C)and (D) only

e (C) #1h (D)

[Option ID = 243]

4. (D) only

F=7 (D)

[Option ID = 244]

62) The first and second step of Dick and Carey Instructional Design Model i= -

(&)
(B)
(©
D)

Development of mstructional strategy
Instructional/learning goals
Instructional analysis

Performance Objectives

Choose the correct answer from the options given below :



& (Dick) 3% 3 (Carey) % 357 f&ons Ofew =1 WaW 79 fgim = 2 -

(A) TS e () =
(B) oA T WE
(C)  aecam= fowe
(D) e (wew) TEE
et fou 7u fomedi & & #ow suLE 399+ = Sitaw
[Question ID = 62][Question Description = 162_09_Education_0CT22_Q62]
1. {A)and (B) only
=59 (A) 3 (B)
[Option ID = 245]
2. (B)yand (D) only
= (B) 7 (D)
[Option ID = 246]
3. (Byand (C) only
e (B) 3 ()
[Option ID = 247]
4. (C) and (D) only
wad (C) 3 (D)

[Option ID = 248]

63) Which of the following programmes are related to quality improvement in In-service
edueation?

{A)  Foundation course in teacher education

(B)  Slkill development programmes

(C) Courses on Pedagogy in specific subjects

(D) Induction meeting

(E)  Miero Simulation for competency development

Choose the most appropriate answer from the options given below :

Frfefen & 8 w5 wrdwn (Tm) So=res e § e aum F g g

(A) s foer & o o

(B) e EwE

(Cy  Tarme foea = wr (Serren) ="

(D)  wiicss difen (Sze Hifen)

(E) =y Bem g s ame

= fom o fomedt & & TR SugE ST 59 St

[Question ID = 63][Question Description = 163_09_Education_0CT22_Q63]
1. (A), (B) and (C) only

8w (A), (B) 1 (O)

[Option ID = 249]

2. (B)and (D) only
o= (B) #f (D)

[Option ID = 250]
3. (B)and (E) only

=@ (B) 3 (E)



[Option ID = 251]
4. (Dyand (E) only

= (D) 3 (B)

[Option ID = 252]

64) Desvis has characterized which of the following as the main soecial functions of the family?

{A) Reproduction

(B) Maintenance

(C)  Placement

(D)  Bocialization of the young ones

(Ey  Marrying the kids
Chooze the correct answer from the options given below -
=HE T e | § HE TR S e SEaS S F =9 7 = e A
(&) = (TreaE)
(B v (H=a=)
(C) T ()
(D)  FAT TN TATTE
(E) == &1 =t 9
= fow ATt 5 5 T99 I TR 9 e i

[Question ID = 64][Question Description = 164_09_Education_0CT22_Q64]
1. (A)-and (B) only

wae (A) @l (B)
[Option ID = 253]

2. (Byand (C) only
¥ (B) 3 (C)

[Option ID = 254]

3. {A)and (D) only
o= (A) 377 (D)

[Option ID = 255]

4. (A), (B). (Cy and (D) only
=aw (A), (B), (C) 3t (D)
[Option ID = 256]

65) The strategy for the education and development of human resourees for any nation should be
based on :

(A) The character and tradifions of ifs people

(B) The stage of the country’s development

() The wealth of its students and teachers

(D) The opportunities available for its development

Choose the most appropriate answer from the options given below -
Rt ot e % For e e < R odf e ify s 24 it

(4) TeTmmsIEdisH mmE w (B) mEftsmsEsmm
(C) = om o sl s e w D) =% fG=m % o s wsw 7
I fae o e § B HAE ST I 9 599 S

[Question ID = 65][Question Description = 165_09_Education_0CT22_Q65]



- (&) and (B) only

= (A) 3@ (B)

[Option ID = 257]

© (A), (B) and (D) only

=4 (A), (B) 3 (D)

[Option ID = 258]

(C) and (D) only

=& (C) 37 (D)

[Option ID = 259]

=@ (D)

. (D) only

[Option ID = 260]

66) Mateh List I with List IT

(A)
(B)
(€
(D)

List I

(Impairments)

Aural Impairments

Skelstal Abniormalities

Ocular Impairments

Language Impairments

List IT
{Ajds/appliances)
(I)  White canes
{II} Communication Boards
(IIT) Hearing Aids
{IV) Wheel Chairs

Choose the correct answer from the options given below:

et 1 % v I 5 = frem i

(&) #Ev wras S (EE)
(B) T (Sheed) Fras ammaa
(C) == graeti anaream (s )
(D) a1 FreHl FrwEaa (ST

Hrat fow e Rt F & o s w1 59 it

=

T

=111
TR JEH] [ S
(I = +=
I
(IIT) ‘s ==
(IV) == =

[Question ID = 66][Question Description = 166_09_Education_0CT22_Q66]

1+ (A)(II), (B)-@), (C)-IV), (D)-(ID)

[Option ID = 261]

2. (A)-MI), (B)-(I), (C)-(II), (D)-AV)

[Option ID = 262]

3. (A)-A1), (B)-IV), (C)-(I1D), (D)D)

[Option ID = 263]

4. (A)-(III), (B)-IV). (C)-(T), (Dy-II)

[Option ID = 264]



67) Mateh List I with List IT

ListI List IT
(Quality Enhancement Programme) (Mandate)
(A) Deeksharambh (I} Faculty Developmient
(B) Jeevan Kaushal (I} Induction programme for students
(C) Guru Dakshata (IIT} Preventing publication in predstory,

dubious and sub-standard journals

(D) Consortium for Aecademic Research (IV) Imparting life skills to students
and Ethics

Choose the correct answer from the options given below:

=t 1 & @y I g o e fim

=11 =10
(T i A (sferm)
(A) GiEE I Fose
(B) = miwm (I = & T AE FEas
(C) =z (II) Tl (=99 ), 579, Aiey 5h Feaes

TR (journals) T THTEH T 79

(D) Hfes Fa9W o 30E (vEe) F v (IV) 3 & FE Fe 9 e e
TR |

= 50 T TS B H A9 I 3 =99 A

[Question ID = 67][Question Description = 167_09_Education_0CT22_Q67]
1 {A)-(I). (B)-(IV), (C)-(1), (D)-(I1I)

[Option ID = 265]
2. (A)-(II). (B)-(IV), (C)-III), (Di-(T)

[Option ID = 266]
3. (A)-AV), (B)-(II), (C)-(1), (D)-(III)

[Option ID = 267]
4. (A)-(IV), (B)-(ID), (C)-(IID). (DT

[Option ID = 268]

68) Match List I with List II

ListI List T
(Programmes on Education) (Focus Area)
(A) EKasturba Gandhi Balika Vidyalaya {I) In this programme  the women's

groups are themselves allowed to
set up their agenda and priorities

(B) Mahila Samakhya (I) In this programme. residential
schools are =et up for girls in
educationally backward blocks

(C) Rashtriva Madhvamiec Shiksha Abhivan (II1) In this programme, the focus is on
enhancing the aceesss to
secondary education as well as its
guality.

(D) Ek Eharat Shreshtha Bharat Abhiyan (IV) In this programme_the focus is on
celebrating the unity in diversity
of the country

Choose the correct answer from the options given below:
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[Question ID = 68][Question Description = 168_09_Education_0CT22_Q68]

1+ (AT, B)-(II), (O-(ID), D)-IV)

[Option ID = 269]

2. (AWIV), (B)-(III), (C)-I), (D)-I)

[Option ID = 270]

3. (A)(D. (B)-AV), (C)-(IID), (D)D)

[Option ID = 271]

4. (A)-ID, (By-(I). (C)-{IV), (D1-IV)

[Option ID = 272]

69) Match List I with List IT

List I
{4) Blended Learning

(B} Online Learning
(Cy Wik

(D) Offline learning

List IT

(I) A learner learns where computers/ smart phone
with Internet connectivity ars available

(II) A learner learns in a classroom as well as at
distance through on-line learning

(IIT) A learner learns face to face in a classroom
situation

(IV) It is a website for reference

Choose the correct answer from the options given below:

o T % w1 =1 frem if

i
(4) ez whrm

(B) =i
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[Question ID = 69][Question Description = 169_09_Education_0CT22_Q69]

1o (AID), (B)-(IIT). (C)-(T), (D)-IV)

[Option ID = 273]

2. (A)ID), (B)-D). (C)-(IV), (D)-(IIT)

[Option ID = 274]

3 (A)-(D. B-AD), (O)-D). D)-AV)

[Option ID = 275]



4 (A)-aV), (B)-I), (C)-1D), (D)-I)

[Option ID = 276]

70) Match List T with List IT -

B

(B)

(©

D)

)

(B)
€
D)

ListI
Demonstrative Model of Curriculum
Development

Grassroot  Model
Dievelopment

Admimstrative Model of Curriculum
Development
Hilda Taba
Development

of Curriculum

Model of Curriculum

(I

List IT
It proposes that curriculum should be
developed by the administration and
implemented by Teachers in classroom
In this mpdel, Top-Down approach is
followed

(IIT) In thi= model Bottom-up approach is

followed

{IV) This model 1= used to enhance the

thinking skills of students

Choose the correct answer from the options given below:

1 = = 11 5= = frem shitan
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[Question ID = 70][Question Description = 170_09_Education_0CT22_Q70]

1. (A)@), (B)-(IL), (C)-(IV), (MD)-(ID)
[Option ID = 277]

2. (A)-(ID), (B)-(II), (C-IV), (D)-(T)
[Option ID = 278]

3. (A)ID). (B)-(IID), (C)-IV). (D)D)

[Option ID = 279]
4. (A)-(IV), (BY-(IIL). (C)-{ID). (D)D)

[Option ID = 280]

71)

Matech List I with List IT
List1 List II
(Psvehologieal Theory) (Developer)
(A) Psychoanalvtic theery (Il Tolman
(B) Field theory (II) Allport
(C) Sipn theory of learning (TIT) Lewin
(Dy Trait theory {IV) Freud

Choose the correct answer from the options given below:
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[Question ID = 71][Question Description = 171_09_Education_0CT22_Q71]
1. (A)-(IV), (B)-(III). (C)«1). (D)-IL)

[Option ID = 281]
2. (A)-(TV), (B)-(TID), (C)-(IT), (D)-(T)

[Option ID = 282]
3+ (A)-(IID), (B)-(IV). (Cy-(I), (D)-ID)

[Option ID = 283]
4. (A, (B)-0), (C-IV), (D)-(1L)
[Option ID = 284]

72) Mateh List 1 with List I

(A)

B)
(€

(D)

Last I
{Theories of the States)
The Classical-Liberal Theory

The Maxist-Socialist Theory
The Nationalist-Totalitarion Theory

Progreszive-Liberal Theory

List IT
(Area of Focus)

Emphasis on individualism and general
welfare

Emphasizes the supermacy of the State

Propagation of Seocialist conception of
the State

Propagates that State is a promoter of

‘social  welfare and protector of

individual rights

Choose the correet answer from the options given below:

=t 1 % am 9= = faem S

T
=y % Tz

(A) =it - g g (1)

(B} wrars - warng g
(C) e - sdwwrars fagw
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2 fom o et F 2 =it 3 90 =99 i

[Question ID = 72][Question Description = 172_09_Education_0CT22_Q72]
1o (A)-T), (B)-IID), (O)-(ID, M)-IV)

[Option ID = 285]
2. (A)(IV), (B)-(II), (C)-(III), (D)T)

[Option ID = 286]
3. (A)-(IID), (B)-(IV), (C)-(T), (D)-(ID)

[Option ID = 287]

=1-11
iy &=

o (e e e e e
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4. (A)

-(ID), (B)-(T), (C)-II), (D)-(IV)

[Option ID = 288]

73) Match List T with List IT

List 1
(Philosophy)
(A) Jain Philosophy
(By Carvaka Philosophy

(C) Nyaya

(D} Prabhakara

o= I F iy I g & e s,

A
(B)
(©)

D)

Last T
(Source of knowledge)
(I} Perception is the only valid souree of knowledge
(II) Perception inference and testimony are souress of
valid knowledge
(IIT) Perception, inference. comparison and testimony
are valid source of knowledge

(IV) Perception. inference, comparison, testimony and
postulation are valid source of knowledge

Choose the correct answer from the options given below:

7=l =11
= I () =g (WEes) 9 @ UE9E 39 =569 2 |
T T @) =7y (FEE), SEE (56) T3 T (SRR T F Ay wm E
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A E |
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[Question ID = 73][Question Description = 173_09_Education_0CT22_Q73]
1o (AT, (B, (C)-IV), (DM(IID)

[Option ID = 289]
2. (A)-IID), (B)-(IV). (C)-(IL). D)-D

[Option ID = 290]
3. (A)-D), (B)-(D), (C)-(1L), D)-IV)

[Option ID = 291]
4 (A)-IV), (B)IID), (C)-(D), M)-ID)

[Option ID = 292]

74)

Match List I with List IT
ListI
{(Theory / concept)
(A) Development of theories

List IT
{Description)
(I}  Assessment studies

(B) Finding solution of immediate problems ina (II) Applied Research
particular setting without generalisation of
findings beyond the situation studied

{C) Adaptation of theories

(IIT) Aection Rezearch

(D) No hyphotheszes are proposed or tested (IV) Basic Research

Chooze the correet answer from the options given below:
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[Question ID = 74][Question Description = 174_09_Education_0CT22_Q74]
1 (A)-(1). (B)-(ID). (C)-(IID), D)-(IV)

[Option ID = 293]
2. (A)-(IV), (B}-(III), (C)-(II), (D)-(T)

[Option ID = 294]
3. (A)-D), (B)-(IV), (C)-(T), (D)-(IIT)

[Option ID = 295]
4. (A)-(IIL), (B)-(T), (C)-(IV), (D)~(11)
[Option ID = 296]

75) Match List I with List IT

Last I List II
(A) Educationsl Guidancde (I) It assists students to make a detailed study of
careers they intend fo pursue and also acguainting
them regarding different avenues of work
(B) Voecational Guidance (IT} It assists in developing study hahits, for selecting.
curricular/co-curricular activities, and also helps in
knowing about the availability of scholarships

(C) Personal Guidance (III} It assists the students 1n certain issues related to
health. moral ideals, and interpersonal relationships

(D) Counselling (IV) It i= a face to face relationship for the purpose of
helping the counselles

Choose the corréct answer from the options given below:
o=t 1 = w11 3= = foens it
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[Question ID = 75][Question Description = 175_09_Education_0CT22_Q75]
1 (A)-). (B)-(II). (C)-(I1T), (D)-aAV)

[Option ID = 297]

2. (A)(ID). (B)-(D). (C)-(IID), D)-aAV)
[Option ID = 298]

3. (A)-(II), (B)-A1), (C)-aV), M)-(D)



[Option ID = 299]
4. (A)-I), (B)-(IT), (C)-(T), (D)-(TV)

[Option ID = 300]

76) Arrange the following scales of measurement in a descending order from higher scale to lower

seale:
(A) Oxrdinal (B) Ratic
(C) Nominal (D) Interval

Choose the correct answer from the options given below :
0T & ety o # 79 o § 0 T % 390E 0 § s9arsrs =+
(A) =9 HEaEEE (O {B) wE ()
(€) i (i) (D) s (Fede)
=t o e fome © © 8 S0 9 =99 Fiae
[Question ID = 76][Question Description = 176_09_Education_0CT22_Q76]
1. (A)— (C) — (D) — (B)
[Option ID = 301]
2. (C)— (A)— (D) — (B)
[Option ID = 302]
3. B)— D) —(A) = (O
[Option ID = 303]
4. B)— @D —(C)— (A)

[Option ID = 304]

77) Arrange the following Indian Philosophers in Cheronological Order of their vear of borth:
(A) Aurbemndo Ghose
(B) Swam Vivekananda
(C)  J. Krizshnamurti
(D)  Habindra Nath Tagore

Choose the correct answer from the options given below :

Tty gy s 1 39 T 99 Sees 1 sagiedd 9

(A) InfEg 9w
B) @ fesEg
(C) . FomH
(D) g = 2

F= Tam o fowed § 9 99 30 9 =g ST

[Question ID = 77][Question Description = 177_09_Education_0CT22_Q77]
1. {A), (B). (C), (D)

[Option ID = 305]
2. D). (C). (B). (A)

[Option ID = 306]
3. (D), (B (A)(T)

[Option ID = 307]
4. D). (C). (A, (B)

[Option ID = 308]



78)

Choose the correct vear of Publication of National Curriculum Frameworks out of the following
and arrange in sequential order :

(A) 1972
B 1975
(Cy 1987
(Dy 2000
(E) 2005

Choose the correct answer from the options given below :

Fetaies @ 8 g WeTEE WEY (FHOH) ¥ WEEE = U6 99 91 999 w1 w1 96 5E 6 8 waey
F

(A) 1972

B) 1975

(C) 1987

@) 2000

(E) 2000

It fou ™ e § ® W I = v A

[Question ID = 78][Question Description = 178_09_Education_0CT22_Q78]
T (A) — (D) — (B)

[Option ID = 309]
2. (B)— (D) —=(E)

[Option ID = 310]
. B —=O—=®

[Option ID = 311]
4. (C)— (D) —(E)

[Option ID = 312]

79)

Planning, as the basic function of educational management, involves certain steps. Arrange
these in sequential order -

(A) Developing plannming premissas

(B) Establicshing goals

(C) Charting out various alternatives and choosing from among them the most suitable
alternative for reaching the desired goals

(D) Determining and allgeating the resources required
(E)  Ensuring that plans are communicated to all the concerned
Choose the correet answer from the options given below -

A o % gergE w1 % w9 A, Fr  Fo w9 S e | % Fen s w5

(A) e o w5 e

(B) =& = T
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[Question ID = 79][Question Description = 179_09_Education_0CT22_Q79]
1. (A), (D), B). (E), (C)

[Option ID = 313]



2. (A). (B (E), (C), (D)

[Option ID = 314]
3. (B), (4, (0), (D). (B)

[Option ID = 315]
4. (B), (C). M), (A), (B

[Option ID = 316]

80)

Arrange the below listed requirements of an Individualized Education Plan (IEP) in sequenece

from beginning to end -

(4 Statement of current level of performance

(B) Statement of azzesement of student’s achievement

(C) Statement of preliminary information about the student

D) Statement of aids, services, modifieations and supports to be provided to the child
(E) Statement of Academic and Functional goals

Choose the correct answer from the options given below -

G D e LT | et | P 1 2 T e R ' B |t o e B e 2 e e e B B o [ o o S el
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[Question ID = 80][Question Description = 180_09_Education_0CT22_Q80]
1. (), (E), (A). (D), (B)

[Option ID = 317]
2. (C), (A), (E), (D), (B)

[Option ID = 318]
3. (A). (O (B). (E). D)

[Option ID = 319]
4. (B), (E). (AL (D). (C)

[Option ID = 320]

81) What is the correct order of the process of portfolio development?

(A)
(Cy

Colleetion (B) Display
Reduction (D) Reflection

Choose the eorrect answer from the options given below :

TR B WE 1 98 Y - R

TEATI ()
=t (feem=t)
T (Fewe)
e (fresEe)

(&)
(B)
(©)
D)

= fog o et § 2 78 v W = i

[Question ID = 81][Question Description = 181_09_Education_0CT22_Q81]
T {A)—(B)—=(C)— (D)

[Option ID = 321]



2. D) — (A) = (O — B

[Option ID = 322]
3. (D)—(C) — (B)— (&)

[Option ID = 323]
4. (A)— D) — (C)— B

[Option ID = 324]

82) Arrange the following committees and commissions in order of their establishment :

(&) Justice Verma Committee

(BY  National Knowledge Commission
(C) Vational Commiszsion on Teachers
D) Secondary Education Commission

Choose the correct answer from the options given below -
Ftatas ool sle e S S T S FT A @ -
(A)  iTzm =i wiTs
B) T T A

(C) e g s
(D) mrstaeE T s
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[Question ID = 82][Question Description = 182_09_Education_0CT22_Q82]
1. (A). (B).(C). (D)

[Option ID = 325]
2. (B). (C), (A). @)

[Option ID = 326]
3. (D). (C). (B), (A)

[Option ID = 327]
4. (D), (B). (A, (C)

[Option ID = 328]

83) Arrange the following stages.of cognifive development as reeommended by Piaget:

(A) Sensorimotor stage

(B) Conerete operational stage
(C)  Pre-operational stage

(D} Formal operational stage

Chooese the correct answer from the options given below :
e g sEiEs TaEs (FrHE) FEE s emm I H e T
(A)  ieerd sgen (=l A w9)
B) g feree sem (§ wtaeEs )
(€ o i wwon (Wi S 29)
D) =T T ST (R TS o)

Fr=r for o e ® € o a1 99 Fihan

[Question ID = 83][Question Description = 183_09_Education_0CT22_Q83]
1. (A), (C), D), B)

[Option ID = 329]
2. (A), (B).(C),. (D)



[Option ID = 330]
3. (B), (C), (A). (D)

[Option ID = 331]
4. (A), (C). (B). D)

[Option ID = 332]

84) Arrange the following stages for developing and implementing a curriculum framework :

(A)
(B
(€
(D)
(E)

Preparation
Development
Evidenee gathering
Implementation

Monitoring and Evaluation

Choose the correct answer from the options given below :

T (eurriculum framework) %1 fomtia 71 maitae #0 % Fofaas =i st 5@ #0 3

T :

(A) T

B f=m

(© ==z
(D) =
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dr=1 for o fowet © 2 w9 v W =Ee e

[Question ID = 84][Question Description = 184_09_Education_0CT22_Q84]
1. (A), B (C). (D). (E)

[Option ID = 333]
2. (C), (A). (B). D), (E)

[Option ID = 334]
3. (A), (C), (B). (D). (E)

[Option ID = 335]
4. (A), (B). (C), (E). D)

[Option ID = 336]

85) Arrange the following stages of Total Quality Management im a sequence proposed by Dahl-
gaard, Kristensen, and Kanji (2002) :

f4)
(B)
(C)
(D)

Guality Control

Total Quality Management
Guality Inspection

Guality Assurance

Choose the correct answer from the options given below -

Te-TE, Twaeae, aftt == (2002) 3@ wEie 3o e 5999 (Total Quality Management) =

Tt =T = FHEN g w6
(A) TR A

(By ot v T

(C) o Frlgm

(D TEET A

et Tor o faseedl ® 2 wd o 5 =9 i



[Question ID = 85][Question Description = 185_09_Education_0CT22_Q85]
1. (A), (B}, (C), @)

[Option ID = 337]
2. (D). (C). (B). (A)

[Option ID = 338]
3. (C). (A), D). (B)

[Option ID = 339]
4 (B, (). D), (A)

[Option ID = 340]

86) Given below are two statements:

Statement I - All educators are potentially leaders. in that all may ereate followers by
influencing those around them, whether as heads of departments. teacher
leaders, principal or vice-chancellor

Statemet II - Leaders in educational administration are concerned with responding to
diversity among learners

In the light of the shove statements, choose the correct answer from the options given below

e < % fem e &

wod 1. wdt Torges sweemier S (F) £, 9 29 9w S0 20 o w1 gae e g S e
W OWEd B =g wmmeag i s w8, Bew dwm @ owmd @ ose-sedfa S
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[Question ID = 86][Question Description = 186_09_Education_0CT22_Q86]
1. Both Statement I and Statement II are true

gl s Igvay

[Option ID = 341]
2. Both Statement I and Statement II are false

gua ] s I ams 2

[Option ID = 342]
3. Statement I is true but Statement II is false

s [ w0 B, wfem s 11 oy 3
[Option ID = 343]

4. Statement [ is false but Statement II 1s true
g [ 319w 2, wiee o 11 599 3

[Option ID = 344]

87) Given below are two statements:

Statement I : Rather than just focussing on what learners are expected to learn in terms
of traditionally defined subject content, competeney based curriculum
emphasizes the various outcomes of & learming process such as skills.
knowledge and attitudes to be applied by learners.

Statement IT : Competency based curriculum allows students te take responsibility for
their education.

In the light of the above statements, choose the correct answer from the options given below
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[Question ID = 87][Question Description = 187_09_Education_0CT22_Q87]

1. Both Statement I and Statement II are true

g 1 =ik gt ae 2

[Option ID = 345]

2. Both Statement I and Statement I1 are false

s ] o I 541 s 2

[Option ID = 346]

3. Statement [ is trus but Statement I is false

o 1w B, s s I owey 2

[Option ID = 347]

4. Statement [ is false but Statement IT 1s true

1.

e 1 e 2, wfed s [ aw 2
[Option ID = 348]
88) Given below are two statements:

Statement 1 ; Rubrics can be used for peer feedback
Statement 11 Rubries can be usad only for paired-peer feedback

In the light of the above statements, choose the correet answer from the options given below

TR s Erm

a7 (1) : TG 97 T TEEE] BiAd & o0 T = HE B
T (II): AT A ST S 9151 F TEEE (T 1) e s e A E |
T T & 4, 9 T Heea 3 3 98 5 9 =3m S

[Question ID = 88][Question Description = 188_09_Education_0CT22_Q88]
Both Statement I and Statement II are true

] s g ae

[Option ID = 349]

2. Both Statement I and Statement II are false

o] s smsg 2

[Option ID = 350]

3. Statement I is true but Statement 11 is false

o 1w B, o e 1 oy 2

[Option ID = 351]

4. Statement [ is false but Statement II is true

w7 1 o 3, et e [ v 2



[Option ID = 352]

89) Given below are two statements:

Statement I - Assessment i= a systematic process of i1dentifying. collecting, and
mterpreting information about the students” learning

Statement I1 - Assessment results must be communicated in a clear and transparent way

In the light of the above statements, chooze the correct answer from the options given below

=1 o wers e &
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[Question ID = 89][Question Description = 189_09_Education_0CT22_Q89]
1. Both Statement I and Statement II are true

gl g gy

[Option ID = 353]
2. Both Statement I and Statement I1 are false

sug ] ot M= w2

[Option ID = 354]
3. Statement I is true but Statement IT is false

w2 1 | B, wf v I oy 3

[Option ID = 355]
4. Statement [ is false but Statement II 1s true

e | o 3, Al s [ am 2

[Option ID = 356]

90) Given below are two statements: one is labeled as Assertion A and the other is labeled as

HReaszon R

Accertion (A):  Though ex-post facto research examines cause and effect but it is not part of
experimental research.

Reasons (R} - In ex-post facto research, effect of independent varahle has already taken
place.

In the light of the above statements, choose the most appropriate answer from the options
grven below

4 4w fam e ¥ ww afire (Assertion A) % 9 # fafigs 2 71 w90 399 10 (Reason R) % &9
H:

SRR (A e GO bad SEEuE S0 i i # we S 8 U 9w wimes
FTEEH AT A 2

7% (R) : -z Herdl SR 1 TEdd = F Y6 g B R = AR |

IR FE & e, e e e § 8 we e e =0 Sl -

[Question ID = 90][Question Description = 190_09_Education_0CT22_Q90]
1. Both (A) and (R) are correct and R is the correct explanation of A

(A)3ftt (R) g 73 £ ot (R). (A) i =8 sarem 2



[Option ID = 357]

2. Both (A) and (R) are correct but B is NOT the correct explanation of A

3.

4.

(A 3ftt (Ry 2t wer £, wihe (R), (A) ) w sarem 78 2

[Option ID = 358]
(A) 1= correct but (R) is not correct

(A) = & F (R) 9 2

[Option ID = 359]

{A) i=s not correct but (R) 1s correct
(A) 38 7 2 =i (R) 7 2

[Option ID = 360]

Topic:- 9_PARTB_Set1

1) Read the following paragraph carefully and answer the following five questions:

As with any change, regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers inelude the way schools and
classrooms are organized Thiz could include physical organization as well a= how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barrers are simply the limited knowledge about
students with disahbilities and inclusive teaching strategies While all of thesze barriers could
make it difficult to have a sucecessful inclusive education programme. each one can be
overcome with various strategies. It is the school’s role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

foreafeti e i s 12 3t 3 e e e e W w g

T T T ot agmma T Y w6 R, -/ S 8 9 A, SEETE & S0 SEeEs | 98 S
T AT F FEATET WA, AT A U WE e A e § | e v 3 wa
UEE O waEtyd 8, 98 99 WieAAEd] HEE & #@a "G £ 9% A Hine wEe & "ig-sa
TEE-T I FF T F T E g meET 5 T v 7w o E, of v | gt awe
=31 e g 1 7 o s ol o B o B TR = P AT e o e e - s o 1 B -
(Ffersa) o o Tfen = F| T sEOEt T o S SeEeh e ot o e
e e o e e I o e et ey e s B s g e o B o R o el o O R
Tl T o B U 39 S B B | 9EeE O ¥ e © T T S § S IS A
Eecaficeruubeerikit s ks el crrauis Eeie e ik iEp R G R e n ks ol

In this paragraph. the attitudinal barriers to inclusion refer to:

S |, waeeE & aftafe s & afinm @

[Question ID = 91][Question Description = 191_09_Education_0CT22_Q91]
1.

Limited knowledge of teachers about inclusive pedagogy
st e gl (derrt) & on d s - Hita = |

[Option ID = 361]

- Attitude of parents of students with disabilities

T/ Forrs el & e T ) wifigfs

[Option ID = 362]

- Attitude of non-disabled peers

- ferme s wEalent (fd) 61 afigfs 3

[Option ID = 363]
- Beliefs of the school teachers and admimistrators about students with disabilities

Frrmm e fenfiat 2 9 F P & o] ot worss < weanagt faonad (dsfe) 2



[Option ID = 364]

2) Read the following paragraph carefully and answer the following five questions-

As with any change. regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion. These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers inelude the way schools and
classrooms are organized Thi=s could include physical organization as well a= how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barriers are simply the lLimited knowledge about
students with disahilities and inelusive teaching strategies While all of theze barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

fTafias e 1 s e 3 e A Ry ve weE w e g

S T s o Teee & WY OEE T, - S ° v A, TEETE & T ST § 9 T 2
T AT # WAATE W, ST e T TR A W e R | s e s e
UEE O Ay 8, 98 99 WieAAEd] #EE & #@-a 96 £ 9% A b oae & Jrg—=m
TEE-T S FF T FA T E Ay meET 5 T v ' w6 e E, o e #) wfien awe

HEATTE, TIEE AN HETd W 9 g & TEeen e e W seEeE & T ArEe
(Fifersm) T W S W R TR ST S ST SeE faser v e e
gt aw |@ieT 5F A R | 9 U6 WEEl & =W ST SeTae e SEEE W EaAEE s 2 o
faiors woefifret & =7 1 W | 9 o T 7 | THEeE 9 9% Ohaed RO TH Sl 8 B 5 A
Eecaficeruubee it e Ris el cerauis Eeie e s ik iEp R e R e n ks ol

Organizational harriers to inclusion do not relate to:

B | e e v 3 e e e

[Question ID = 92][Question Description = 192_09_Education_0CT22_Q92]

1.

Family members-of students with disabilities

T (T s fEaEar & 9=

[Option ID = 365]

- Teachers

AT T

[Option ID = 366]

- Classrooms

HEAA H

[Option ID = 367]

- Schedules

wEg-mto (fagges) #
[Option ID = 368]

3) Read the following paragraph carefully and answer the following five questions-

As with any change. regardless of advantages and dis-advantages, there are =everal barriers to
the successful implementation of inclusion. These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers include the way schools and
classrooms are organized This could include physical organization as well as how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barriers are simply the lLimited knowledge about
students with disabilities and inclusive teaching strategies While all of these barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.



Pefetis e 1 A 2 3 T N e e e g

Fur fa Tt i wers & =19 29 2, WU-519 9 S H vF (5, FHETE @ g6 SEEEE | 98 #90d B)
T AW R OFIAAEE S, WiMgm EE U3 W ARl S WEe R | e v TEw o
UEE § SEESq 8, 98 99 WieTEdd] # & #-70 =5G &) 394 #50h HinE w=ae] & F9-91g
THG-AI F1 FE 1T T T E AT EaT S e T § w5 e, W B st S
TR, AT A S ¥ 5 g & e/ e fEendi ot geden & oafa st
(FierFet) TF ST Wimn T | e S O S Ay SEEE e e Ae e

et W H@itaa 79 ST 2 | 9 U6 SE0dl & WY S0 SETEEl (e TEes 8 S 9l oA
iy T W U I S B B | s O A S # T T S § S I A

. T Tt i = T e T AR F e 9 = A e T 9 A |
Why should the schools overcome barriers to inelusion?
el =1 GuEE % Ry i FE g e e

[Question ID = 93][Question Description = 193_09_Education_0CT22_Q93]
1. Because students with disabihities do better when served in inclusive education

it fore foamelf wamat fa @ Sgar % )
[Option ID = 369]
2. To fulfill the legal obligations

Frt gt #1 9 wE % feul
[Option ID = 370]

to ensure that students with disabilities and without disabilities receive education
together

7% wRTE =0 % o T e o fowem oo o 7@ B sm =7

[Option ID = 371]
4. To meet the demands of the society

T AR g0 * T

[Option ID = 372]

4) Read the following paragraph carefully and answer the following five questions:

As with any change, regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
barriers and knowledge barriers. Organizational barriers inelude the way schools and
classrooms are organized Thiz could include physical organization as well a= how the
schedules are developed and how classes are assigned to teachers. Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school personnel about students with
disabilities ‘and inclusion. Enowledge barriers are simply the limited knowledge about
students with dizahbilities and inelusive teaching strategies While all of these barriers could
make it difficult to have a sucecessful inclusive education programme. each one can be
overcome with various strategies. It is the school’s role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

foreafetia e i sas 12 ot e e e gt e o g

T T T ot agema T Wy B R, UU-S/ S 8 0 A, FEETE & SR s | S S
T AT T FEATET WA, g S U TR A A e R | e v 3 wa
UGE § A 5, 9F 5% SIeTET] WS F Fa A &) A% S5 Mg saaey & S7a-He
TEE-T I FF T = T E g meEt 5 T v 7 wan o E, of v #)| gt awe
WIS, TOEET SR e 5 SEg 3 Eenn/ Huen S A geaEed & um s
(Ffersa) o¢ or Tien = F| e sEOET & s ST SREs e ot ofw e

i aw e §W ST R | 9 U5 WE0dl § WY I SETEE e TEes § S e 2 oA
s it & 99 1 UaE § 31 1 59 & | 9 9 98 2iEed & 6 TH Al 3§ 5 3 and

Eecaficeruubeerikitc e ks el crrauis Erie e s ik iEp R G R e n ks ol

Which of the following 1= NOT indicated a barrier to the suceessful implementation of
inchision?



AnTETH A fE % TR Se=a § Fetanas § § e ge0Y = =9 8 T8 e @ 2y

[Question ID = 94][Question Description = 194_09_Education_0CT22_Q94]
1.

Knowledge barrier

[Option ID = 373]
- Technological barrier

[Option ID = 374]
- Attitudinal barrier

[Option ID = 375]

- Orgamzatonal barrier

[Option ID = 376]

5) Read the following paragraph carefully and answer the following five questions:

As with any change. regardless of advantages and dis-advantages, there are several barriers to
the successful implementation of inclusion These include organizational barriers, attitudinal
harriers and knowledge barriers. Organizational barriers include the way schools and
classrooms are organized This could include physical organization as well as how the
schedules are developed and how classes are assigned to teachers Attitudinal barriers focus
on the beliefs of teachers. administrators, and other school persennel about students with
disabilities and inelusion. Enowledge barriers are simply the limited knowledge about
students with disabilities and inclusive teaching strategies. While sll of thes=e barriers could
make it difficult to have a successful inclusive education programme. each one can be
overcome with various strategies. It is the school's role to overcome these barriers so that
students with disabilities can receive an appropriate education with their non-disabled peers.

foreTetis e = sqeEe T ot e AR e A o g

T T Tt 1 TEe W R R, WS W A 6 T L TR F AT TS 6 9 9 B

T AT H WA S, 9iigi e v S Al S e T | e T Ta e
UHE H SHEre ©, 97 96 SioAwadn] SOEY & da 90 ¢ THd #enm WinE asd] & "a-me

Tl 91 &8 fa e w2 Ay et 5 e ven 3 wan § o E, o e )| sfieen seie
T, AT S ST ¥ 5 S & e/ e e e meeen & oafa st
(diferss) o WH wren w0 B TR ST & SR ST SEEEt s o 6 e
foenftn o difom 5@ oA 2 | S| U9 SEUdl Wy OEe 5ETEEl e S 0w s =
fatag wEilaa & @y 7 UES 8 39 S 9ad B | [HEeE 90 98 anEed F T U A"l 3 HW I8 A
o e e o w9 -1 T - A F e I | S w9 A |

The most appropriate title for the given paragraph would be -

ez & Y w1 watfn suge sids g

[Question ID = 95][Question Description = 195_09_Education_0CT22_Q95]
1.

Implementation regarding Inclusive Education
TTE En % vrEn © st

[Option ID = 377]
Implementation of Inclusive Education

ToreEl e = FaieEa
[Option ID = 378]

- Barriers to Inclusion

TS ¥ Ay



[Option ID = 379]

4. Barriers about Inclusion
HOTEE & ATEY T ey

[Option ID = 380]

Topic:- 9_PARTC_Set1

1)

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 5D of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and 5D
of the elass for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry Anether student
Reshma scored 58 marks in Physies and 22 5 marks in Chemistry. Another student Sameer
scored 46 marks in Physies and 19 marks in Chemistry. The summary of these scores is given
helow :

Subject Mean of the class | 8D of the class Rekha Reshma Sameer
Physies b0 20 30 b6 46
Chemistry 20 5 26 225 19

Fefolias mem + waEEs e 3 I AN 58 W T # S e

so Foenfeldt ot <10 $a1 § g 3w Hifns Bee v e e § TaRfE ) e S
qeaTe 7 652 Tog | difos o ¥ STofs-wis B4 947 % U1 Um o foeee s 50 3 20 €,
Fats wrE fome ¥ SeeE-TeEs 81 Sy S wrer 3t o faeem w20 oftt s & | T s T
3 uitfes B 1 30 % o wee e o 26 5% oo fn | e s o B 3 i e e
a% 3w B 0 22,5 o 9w o | v awe 9= fodl T oifes faem d g6 o o wmE

fomm o 10 2 ww T | STH o S S o T -

e FYT FAEE | T8 F O oEeH = Tm mifit
i fem 50 20 30 56 KT,
=T fEme 20 5 26 325 19

Who had the best mean zcore on both tests?

F £ F Heten ey S feaw 7
[Question ID = 96][Question Description = 196_09_Education_0CT22_Q96]
1. Rekha
@
[Option ID = 381]
2. Reshma
Tm
[Option ID = 382]
3. Sameer
it
[Option ID = 383]
4. Reshma and Sameer both

[Option ID = 384]



2)

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
helow :

Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics b0 20 30 56 46
Chemistry 20 5 26 225 19

Freatatias T+ sEgEE ve 3l 39 Hi9 Ton v e = S e

so faenfel areft St 5 § s 3 Fow: Oifys Bes @ Wy e o Bl s S
geareA 2 ¢t Torw | Sifos: oo § STef@i-anis 34 %97 % W U o fasee e 50 3 20 4,
wafs = ome § - 8 591 % me ot e foee w20 oftt 5 € | T e e
3 itfes R & 30 % of wee T | 26 o5% wm fw | e s e BT 3 s e s
¥ 2R W e T 22,5 ofw e T | O ame o e 5 oifes e g o ok
fam § 10 o 3w fE | oo s wmow 9 o R

g FHFAEE | =8 w1 U FEe = T Wi
i e 50 20 30 56 46
@ fame 20 5 26 225 19

Who had the best score on either test?
foreft off = 2 § waifas oo s A 7

[Question ID = 97][Question Description = 197_09_Education_0CT22_Q97]
1. Rekha

Eeey
[Option ID = 385]
2. Reshmsa

m

[Option ID = 386]
3. Sameer

Sy

[Option ID = 387]
4. Reshma and Sameer both

[Option ID = 388]



3)

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard class of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics were 50 and 20, respectively whereas, the mean and SD
of the class for the achievement scores in Chemistry were 20 and b respectively.

One student Rekha scored 30 marks in Physies and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physies and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
below :

Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics 50 20 30 56 46
Chemistry 20 5 26 225 19

Featatias mm # wEgEE ve 3l 39 Hi9 Ton v v = S

so Tt =rsft St 5 § s 3w Oifys B @ e e o Bl o S
geareA 2d e Tor | difos: fomm § Syef@i-ais 34 %97 % wres wm o faeee e 50 it 20 4,
wafs = oue § SumE-ueE 8 91 % me ot e faee w20 oftt 5 € | T e e
3 itfrs R 1 30 oO% 2w T o 26 5% wm fw | e s e BT 3 s e d s
a% 2R W e T 22,5 ofw e T | O ame o e 5 oifes e g o ok
fomm § 19 37 w0 e | s = Amw A T o # -

B FHT T U | FE F O EEEE = T i
i e 50 20 30 56 ET;
e fame 20 5 26 225 19

Who had the poorest score on either test?
fopeit ot T T2 ¥ wed T WA RS A7
[Question ID = 98][Question Description = 198_09_Education_0CT22_Q98]
1. Rekha
T
[Option ID = 389]
2. Reshmsa

T
[Option ID = 390]
3. Bameer

i

[Option ID = 391]
4. Reshma and Sameer both

[Option ID = 392]



4)

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer
scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
helow :

Subject Mean of the class | 8D of the class Rekha Eeshma Sameer
Physics b0 20 30 56 46
Chemistry 20 5 26 225 19

Freatatias T+ sEgEE ve 3l 39 Hi9 Ton v e = S e

so faenfel areft St 5 § s 3 Fow: Oifys Bes @ Wy e o Bl s S
geareA 2 ¢t Torw | Sifos: oo § STef@i-anis 34 %97 % W U o fasee e 50 3 20 4,
wafs = ome § - 8 591 % me ot e foee w20 oftt 5 € | T e e
3 itfes R & 30 % of wee T | 26 o5% wm fw | e s e BT 3 s e s
¥ 2R W e T 22,5 ofw e T | O ame o e 5 oifes e g o ok
fam § 10 o 3w fE | oo s wmow 9 o R

g FHFAEE | =8 w1 U FEe = T Wi
i e 50 20 30 56 46
@ fame 20 5 26 225 19

Who had the most consistent scores on both tests?

Z F © weE At @ (FEadz) TuE s 7
[Question ID = 99][Question Description = 199_09_Education_0CT22_Q99]
1. Rekha
@
[Option ID = 393]
2. Reshma

T
[Option ID = 394]
3. Sameer

e

[Option ID = 395]
4. Reshma and Sameer both

[Option ID = 396]



5)

Read the following paragraph carefully and answer the following five guestions:

In a ninth standard eclass of 50 students. the teacher administered test to measure
achievement of students in Physics and Chemistry, respectively. The mean and 3D of the class
for the achievement scores in Physics weie 30 and 20, respectively whereas, the mean and 5D
of the class for the achievement scores in Chemistry were 20 and 5 respectively.

One student Rekha scored 30 marks in Physics and 26 marks in Chemistry. Another student
Reshma scored 56 marks in Physics and 225 marks in Chemistry. Another student Sameer

scored 48 marks in Physics and 19 marks in Chemistry. The summary of these scores is given
below :

Subject Mean of the class | 8D of the class Rekha Eeshma Sameer

Physies b0 20 30 56 16
Chemistry 20 ] 26 225 19

Freatatias T+ sEgEE ve 3l 39 Hi9 Ton v e = S e

so Temnfelai =rsft St 1 § aomes 3 o O e w wre e T R o S
geareA 2 ¢t Torw | Sifos: oo § STef@i-anis 34 %97 % W U o fasee e 50 3 20 4,
wafs = ome § - 8 591 % me ot e foee w20 oftt 5 € | T e e
3 itfes R & 30 % of wee T | 26 o5% wm fw | e s e BT 3 s e s
¥ 2R W e T 22,5 ofw e T | O ame o e 5 oifes e g o ok

= H 10 o= WE fEa1 | WO S = S o e

g FHFAEE | =8 w1 U FEe = T Wi
i e 50 20 30 56 46
@ fame 20 5 26 225 19

Who had the least consistent scores on both tests?

[P L8 B o 7 == ] P s P

[Question ID = 100][Question Description = 200_09_Education_0CT22_Q100]

1.

Rekha

Bt

[Option ID = 397]
Reshma

T

[Option ID = 398]

Sameer

e

[Option ID = 399]
Beshma and Sameer both

[Option ID = 400]

Topic:- 11_GP_SH1_Set1_A



1)
The following table presents the details about the percentage (%) distribution of teachers

and the number of male teachers In six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tentheis Teachers
A 14% 200
B 16% 400
C 28% G600
D 15% 100
E 21% 500
F 06% 100

Tsferfian s O 28 fafy= 50 (A — F) d e &1 gfaem fEarvr ag gea fes 6 d@en # =60 fqa
A 21 |l @ el 4 Fel 4500 et 2| avfern O fau e sEsi & S W 91— 5 & 3 i

e =1 sE—an faam

vier L | ferrl 0 ufds@ (%) | gFw FrerRl i e
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What 1s the total number of male teachers in City-F, female teachers in Citv-C and female
teachers in City-B together?

(I 1080 (2)
(3) 1180 4

1120
1020

w@-F 0 g e, s@i-C O ufeen fMaw @@ smi-B ° ofeen e A den |1 F@ am
N RY

(1) 1080 (2)
(3) 1180 (4)

1120
1020

[Question ID = 1001][Question Description = 101_00_General_19_0CT22_Q01]
1. 1 [Option ID = 4001]
2. 2 [Option ID = 4002]
3. 3 [Option ID = 4003]



4. 4 [Option ID = 4004]

2)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5:

City-wise Distribution of Teachers

City v+ | Percentage of (%) Number of Male
Teantheis Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
P 06% 100

fesferfiaa mfcrn O 28 fafy= 9= (A — F) d e &1 afaem v au gea fres 6 d@en # =00 T
P 2 |l e w1E 4 el 4500 fers &) avfere O fau e siEsi & S W 91— 5 & 39 it

e =1 TE—an aa

vier b | ferrl 0 ufds@ (%) | gEw el i e
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

The number of female teachers in City-D i1s approximately what percent of the total numher
of teachers 1n City-A?

(1) 75 (2) 81
(3) a5 i4) 91

si#-D 4w el $ den e -AH e 6 ga deEn a1 arm e afiem 27

(1) 75 (2) 81
(3) 95 (4 91
[Question ID = 1002][Question Description = 102_00_General_19_0CT22_Q02]

1. 1 [Option ID = 4005]
2. 2 [Option ID = 4006]



3. 3 [Option ID = 4007]
4. 4 [Option ID = 4008]

3)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of

4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tamcheprs Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

Teferfiaa aifer 8 % fafa= sma (A - F) | fa 1 afasw e aen 9 e 6 @en & =6 @
21 mdi e w1eti 1 Fel 4500 fers F) anfer 4 fo o siEl & s U 1 — 5 % 39 i)

Toers! = s—an =

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
# 28% 600
D 15% 100
E 21% 500
F 06% 100

In which city is the number of male teachers more than the number of female teachers?

(1) B only (2)
(3) Both Band E (4)

D only
Both Eand F
farm e | o Tonareni o) wen 7an o ufeen el 41 wen 8 i 27
(1) =B (2) FawD
(3 BIWE=ZHEH (4 E3RFIEH

[Question ID = 1003][Question Description = 103_00_General_19_0CT22_Q03]
1. 1 [Option ID = 4009]



2. 2 [Option ID = 4010]
3. 3 [Option ID = 4011]
4. 4 [Option ID = 4012]

4)
The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There i3 a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5:

City-wise Distribution of Teachers

City + | Percentageof (%) | Number of Male
Testhers Teachers
A 14% 200
B 16% 400
C 98% 600
D 15% 100
E 21% 500
F 06% 100

T=ferfian mfcrn O e fafy= 3= (A — F) 9 e &1 afaem fEavr au gen fres 6 d@en #1600 @
21|l e w1edi 1 Fel 4500 e &) Ao o fou e s & sran | s 1— 5 % 3 difs

Torel =1 IE—an aam

vier b | ferrl o ufds@ (%) | gEw el SR s
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

What is the difference between the total number of teachers in City-E and the number of
female teachers in City-F?

(1) 625 (2 775
(3) 675 4 725
e~ # forersl 1 g e aw vwe-F 3 ufeen foere 401 s @ o a2 27

(1) 625 (2) 775
(3) 675 (4) 725



[Question ID = 1004][Question Description = 104_00_General_19_0CT22_Q04]
1. 1 [Option ID = 4013]
2. 2 [Option ID = 4014]
3. 3 [Option ID = 4015]
4. 4 [Option ID = 4016]

3)

The following table presents the details about the percentage (%) distribution of teachers
and the number of male teachers in six different cities (A—F). There 1s a total of
4500 teachers in all the six cities together. Based on the data in the table. answer the

questions 1-5;

City-wise Distribution of Teachers

City + | Percentage of (%) Number of Male
Tamcheprs Teachers
A 14% 200
B 16% 400
C 28% 600
D 15% 100
E 21% 500
F 06% 100

Teferfiaa aifer 8 % fafa= sma (A - F) | fa 1 afasw e aen 9 e 6 @en & =6 @
21 |l e 1edl 1 Fe 4500 faers § ) anfer 4 fou o siE & s a1 — 5 % 3 i

Toers! = s—an =

What is the ratio of the number of male teachers in City-C to the number of female teachers
in City-B?

(1)
{3)

s 4 | Tessl o widem (%) | gEe el S EEn
A 14% 200
B 16% 400
# 28% 600
D 15% 100
E 21% 500
F 06% 100

(2)

15:11

(4) §:15




I~ C H 75 a7k =1 e au wre-B 4 gl Gasel ) e st w1 2 e

(1) 11:16 (2) 16+11

(3) 15:8 (4) §:15
[Question ID = 1005][Question Description = 105_00_General_19_0CT22_Q05]
1. 1 [Option ID = 4017]
2. 2 [Option ID = 4018]

3. 3 [Option ID = 4019]
4. 4 [Option ID = 4020]

Topic:- 11_GP_SH1_Set1_B

" Which one of the following is the national repository of high guality resources on

foundational Iiteracy and numeracy?

(1)  Digital Infrastructure for Enowledge Sharing (DIKSHA)

(2) National Institute of Open Schooling (NIOS)

(3) National Repository on Open Educational Resources (NROER)
(4 National Professional Standards for Teachers (NPST)

freaferfian # 4 oim samga ap a9 ARy dad 3= e Jaad @ g dEe 27
(1)  Tafoee = aven saEe ()

(2) T g e HEUE (VA ST S )

(3) A g S R ISR (0 AR S )

4y e giaE e qeEe (v diva A)

[Question ID = 1006][Question Description = 106_00_General_19_0CT22_Q06]
1. 1 [Option ID = 4021]
2. 2 [Option ID = 4022]
3. 3 [Option ID = 4023]
4. 4 [Option ID = 4024]

2) {Inder which initiative every student in the country will participate in a fun project/activity
on 'The Languages of India’. sometime in Grades 6-87

@8] Make in India (2) Digital India
(3 Padhe Bharat Badhe Bharat 4) EK Bharat Shrestha Bharat

FefenEd 1§ 0 FEEa § 59 ° 0 Eemdl e 6 — 8 U2 ° Ea 9 Sesm e sisa
T T FiTE A FEFT B AT T

(1) 9% = 2y fefaea dfem

(3) "% WA #2 WA (4)  UH U A qEA

[Question ID = 1007][Question Description = 107_00_General_19_0CT22_Q07]
1. 1 [Option ID = 4025]
2. 2 [Option ID = 4026]
3. 3 [Option ID = 4027]
4. 4 [Option ID = 4028]



3)  Given below are twao statements:

Statement I: It is not desirable to have all the interest areas around the outside of the

classroom, leaving a large deadspace in the middle.

Statement IT: It is not desirable to put bookshelves next to the reading area and games
equipments by the game table.

In the light of the above statements, choose the most appropriate answer from the options

given below:

(1) Both Btatement I and Statement I are correct
(2) Both Statement I and Statement 1T are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I1 is correct

A g1 e faqu o 2

FH L . R R F Ue B =T AT A9 BISE 35 T-U B WE H Etw b =] & F e
wdE TF 7

FRIl: S F TO0F B R TF WA9E A Fs 29 T e # I0E w e g
T 2

TUITH A 5 e, 14 fen o Faeredi 1 3 w39 IR =59A Fif

(1)  F93Isin DaAEEd )
(2) A 130 I F]Terd 2
(3) WA 19 2, offa ded 10T 2
(4) e[ LA 2, diFd F9F [LEE 3)

[Question ID = 1008][Question Description = 108_00_General_19_0CT22_Q08]
1. 1 [Option ID = 4029]
2. 2 [Option ID = 4030]
3. 3 [Option ID = 4031]
4. 4 [Option ID = 4032]



4)

(A)
(B)
(©
(D)

Match List T with Last IT :

List T List 1

Learning Management System (I) Blender

Web Conferencing System (II) Sakai
Animation Maker System (IIT) SPSS

Data Processing System (TV) Microsoft Teams

Choose the correct answer from the options given below:

(1)

(2)
(3)
(4)

(A) —(II).
(A) —(IV).
(A) - (@.
(A) —(III),

B) — avy,
B) — (D.

(B) — (II),
(B) — (ID),

A1 1% 7y A= I firerm s

(A)
(B)
(C)

(D)

= 1

T AR WA (=9 e fem) (1) §E

(€) — @ (D) — (I
(C) — (D). (D) — I
(©) — dh. O - av
© -av). M-

A R qone (e e ) () e O e v

T TR IO (STEn TE e )

(IV) HEFETe 70

3 fou o feppedi @ w3 a1 =am i

(1)
(2)
(3)
(4

(A)— (D).
(&) — 1V).
(A) — (D).
(A) — (IID).

B) - (IV).
By — (@).

(B) — (IID).
(B) — I0).

(€)= @M. (D) = (II)
(C) — (I, (D) — (I
(€) — dh. (D) — IV)
© —a). @ - D

[Question ID = 1009][Question Description = 109_00_General_19_0CT22_Q09]
1. 1 [Option ID = 4033]
2. 2 [Option ID = 4034]
3. 3 [Option ID = 4035]
4. 4 [Option ID = 4036]



5 ) . .
) Identify the approaches to assessment that require performance in context.

(A) Priming

(B) Portfolios

(C) Think-Pair-Share
(D) Exhibitions

(E)  Token reinforcement

Choose the most appropriate answer from the options given below:

(1) (B) and (D) only
(2)  (A)and (C) only
(3) (C) and (D) only
(4)  (D)and (E) only

e T9A i 3 W59 o6l wew Fifaw foad s 2

(A) e (i)

(B) fawm (TEwiferE)

(C) F-gm-—arEr (Fe-te-aem)
D) el (ufrafar)

(E)  weftwmens waed (7 fEwnin=)

et 7o ferea o 6 | e 30 1 99 e

(1) & (B) 1 (D)
(2)  FEE (A) 37 (C)
(3) ¥ (C) s (D)
(4)  Fae (D) #1(E)

[Question ID = 1010][Question Description = 110_00_General_19_0CT22_Q10]
1. 1 [Option ID = 4037]
2. 2 [Option ID = 4038]
3. 3 [Option ID = 4039]
4. 4 [Option ID = 4040]

6)
The type of research in which the researcher gains familiarity with a phenomenon or to

achieve new insights into it, 1s known as :

(1) Diagnostic research study (2) Exploratory research study

(3) Descriptive research study (4) Hypothesis testing study



11 1 F7 R e wia T w2 S g S 2 sty g A St e FEE) SE 2,

FEAT 2 :
(1) femres oy s (2) = Iy A
(3)  AvfRaE T e (4) TR A SR

[Question ID = 1011][Question Description = 111_00_General_19_0CT22_Q11]
1. 1 [Option ID = 4041]
2. 2 [Option ID = 4042]
3. 3 [Option ID = 4043]
4. 4 [Option ID = 4044]

7)
The procedure of assigning numbers to various degrees of opinion, attitude and other

concepts, 1s called as

(1) Regression (2)  Scahng

(3 Variance (4) Concordance

fereme, safuafa a7 spemoon s o Fafis afgon &1 e fa s i afEn eand

(1)  uv=mgs (foree) (2) WA (EFfem)
(3) e (o) (4)  HETE (FFEE)

[Question ID = 1012][Question Description = 112_00_General_19_0CT22_Q12]
1. 1 [Option ID = 4045]
2. 2 [Option ID = 4046]
3. 3 [Option ID = 4047]
4. 4 [Option ID = 4048]

8 ) : .
) Identify the correct sequence for the technigue of developing measurement tools :

(A) Specification of concept dimensions
(B) Selection of indicators
(C) Coneept development

(D)  Formation of index

Choose the correct answer from the options given below:

(1) (A (B). (C). (D)
(2)  (C). (A). (B). (D)
(3) (B (C), (A), (D)

(4) (D). (A). (C). (B)



qTH = (BerH 7 ) o faira = ) afafad  od s ) vearfag)
(A)  sHEawEN AT # fafaeE (PiathsTe S Faw e

(B) g F1994

(C)  srawmon faa

(D)  HEEHTF F W (FHIE AT )

A1 T famed 1 O & w3 = i

(1) (A). (B). (C), (D)

(2) (C), (&), (B). (D)

(3) (B). (C). (A). (D)

(4) (D). (A). (T). (B)
[Question ID = 1013][Question Description = 113_00_General_19_0CT22_Q13]
1. 1 [Option ID = 4049]
2. 2 [Option ID = 4050]

3. 3 [Option ID = 4051]
4. 4 [Option ID = 4052]

9)
With reference to Likert-tvpe scale, the correct set of options include :
(A) Likert-type scale can be performed without a panel of judges
(B) Likert-type scales are not considered reliable
(C)  Likert type scale takes more time to construct
(D)  Each statment in Likert-type scale 1s miven an empirical test for discriminating ability

(E) Likert-type scale can be used in recpondent-centred studies

Choose the correct answer from the options given below:

(1) (A). (B). (C) only
(2) (B). (C). (D) only
(3) (A). (D). (E) only
(4) (C). (D). (E) only



Torehd WohR & T (% ) O el % el ATy 8 nfie 2

(A)  ToreRd SERR % |9 =1 T8 P s crei-age o e e sn a2
(B)  fored 9o o |19 =0 Tavasa A | s

(C)  Torerd e % |1vR ] w1 ad | e 6 w2

(D)  Torkd war & w1 A geds a5 g s e 11 F fon ok sdias g
(zufifreret 262) Taan =i )

(E)  Torehd wshm & 9ros =0 3l geaedi iz steres (ons= des e d) o e s 21

s faw o ferereddi 3 38 3av o T Hifem

(1) &&= (A), (B). (O)

(2)  F&d (B). (0), D)

(8)  FAe (A), D). (E)

(4) & (C), (D), (E)
[Question ID = 1014][Question Description = 114_00_General_19_0CT22_Q14]
1. 1 [Option ID = 4053]
2. 2 [Option ID = 4054]

3. 3 [Option ID = 4055]
4. 4 [Option ID = 4056]

10) Match List I with List II :

Last T List IT

(A) Hp:p=ug, =100 (I)  Alternate hypothesis is that the population mean is
not equal to 100

B H,:u=up 5 (IT)y Alternative hypothesis is that the pepulation mean is
greater than 100

(C) Hy:pu>pug, (III) Null hypothesis is that the population mean is equal to
the hypothesized mean 100

D) Hy:pu<pm (IV) Alternative hypothesis is that the population mean is
less than 100

Choose the correct answer from the options given below:

(L @—1. @ — @) ¢ — d). O — (@D

2 A1), @ —dh. © - @O @O —dh
3 @—Mm (B - dD. (€ - (IV). (D) — 1D
@  @-dn, ® - @O, (© - d). (@O - dv)



a1 Lo A A= I e Fifam

q= T el I
(A) Hy:p=pg, =100 (T)  Feferss qimres 72 2 & @ s 100 % w21 2
(B) Hy:u=pm (A1) et giepera) a8 2 {6 Hu w100 3912

(C) H,:p>pg, (IID) Frreafia wirern 22 2 B s (amiees) s gier=ras
14 100 % &R 7
(D) H,:u<pg, (IV) Fafore afeper o2 2 B qm gea 1005 #4971

1 fo aru faeped] @ | gm0 3 =19 ifen

(1) (A)-(1D. (B) - IV). (C) — (@D, (D) - @

(2) (A)-IV). (B) — I, (C) —(@. (D) — (I
(3 A-@ (B - @) (C) - av, (D) - {D
4 (A-dm B -O (© - (D -a

[Question ID = 1015][Question Description = 115_00_General_19_0CT22_Q15]
1. 1 [Option ID = 4057]
2. 2 [Option ID = 4058]
3. 3 [Option ID = 4059]
4. 4 [Option ID = 4060]

11)

Organisational communication is in nature.

(1) Obtrusive (2) Contradictory

(3) Non-behavicural {4) Applied
WA T —— usfa e gl
(1) @ (SagHE) @  wEwEEd (FEE)
(3)  H=AEERTNF (FH-Taefywe) (4) IR (ETensE)

[Question ID = 1016][Question Description = 116_00_General_19_0CT22_Q16]
1. 1 [Option ID = 4061]
2. 2 [Option ID = 4062]
3. 3 [Option ID = 4063]
4. 4 [Option ID = 4064]

12)  Development of communication skills among learners involves :

(A)  Vertical flow of information

(B) Restricted expression of views

(C) Logiecal argumentation

(D)  Sharing of doubts

(E) Understanding human psychology

Choose the correct answer from the options given below:
(1) (A). (B). (C) only
(2) (B). (C). (D) only
(3) (C). (D). (E) only
{4) (A), (D), (E) only



forenieda 4 Aol 19T & faem 8 wiEE 2
(A)  HE sl R

(B)  TEm=m ) wiesiem sihusafm

(C) il ae-faane

(D) STERIT T HTE

(E) M4 qAETE F e

74 faw o Fomrel 9 3 #3751 =99 Fife

(1) ¥4 (A), (B). (O)
(2)  FA (B). (€). (D)
(3) A (C), (D). (B)

(4 Fa (A), D), (E)
[Question ID = 1017][Question Description = 117_00_General_19_0CT22_Q17]
1. 1 [Option ID = 4065]
2. 2 [Option ID = 4066]

3. 3 [Option ID = 4067]
4. 4 [Option ID = 4068]

13)
Given below are two statements:

Statement I:  The physical context of commumnication must be tangible.

Statement IT: The temporal context of message deals with the sequence of events.

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both Statement I and Statement IT are true.
(2) Both Statement I and Statement IT are false.
(3) Statement I 1s true but Statement II 1= false

(4) Statement I is false but Statement IT 1s true



4 A1 e famamo 3

F9A 1 ; oy ) e Had S EEr A

FUA T HE9 & il Hay B 9easd & S4@y 91 Iechd 7141 2)

TR e & ST d, A e e O 3 ge 39 I 999 fifE)

(1) &wd T &n IT 241 |3 2|
(2) a0 EE A 2
(3)  &yA I9ra 2, “lfeH Faa I 3797 7

(4) g I e 2, ol as [T a2
[Question ID = 1018][Question Description = 118_00_General_19_0CT22_Q18]
1. 1 [Option ID = 4069]
2. 2 [Option ID = 4070]

3. 3 [Option ID = 4071]
4. 4 [Option ID = 4072]

14)
Types of communication distance on a continuum of ethnocentrism in sequence are :

(A)  Indifference
(B)  Avoidance

(C Disparagement
(D)  Equalty

(E) Sensitivity

Choose the correct answer from the options given below:

(1) (B (O (E). D). (A)
(2) (D). (E) A). (B)(C)
(3)  (C), (D). (E). (A). B)
(4) (A, B), (C). (E). (D)



Y W AraTideTzand 1 e e ae gf & gn A

(A) AT (A RE)
(B) gl (sETgE)
(C)  wauH| (fEariem=)
(D)  wHERn (o)

(E)  HeagAsiie (afafiad)

A T e el O 3 wdl 3 1 = i

(1) (B), (C). (E), (D), (A)
(2) (D). (E). (A), (B). (C)
(3) (C). (D). (E). (A), (B)
4 (A). (B), (C). (E). (D)

[Question ID = 1019][Question Description = 119_00_General_19_0CT22_Q19]

1. 1 [Option ID = 4073]
2. 2 [Option ID = 4074]
3. 3 [Option ID = 4075]
4. 4 [Option ID = 4076]

Match List T with List 1T ;

List I {Tvpes of Skills)

{A) Public speaking

(B} Leadership

(C) Selfpresentation

(D) Interviewing

List IT (Characteristics)
(I} To gain information
(I) Confidence
(IIT} Problem-solving

(IV) Represents a credible person

Choose the correct answer from the options given below:

(1 A-OM. @
2) (A)-dD. B
(3) A-av. @
4 (AH-dn, @

(1),

(Iv).

I,

(ITI).

(C) — dIm).
(€) — @.
(C) — .

(C) — aV),

D) — (IV)
D) — (D
(D) — (IID)
D) - @D



g 13 e 9= 1= fuers $ifsm

= T (FeTet & W)

(A)  HE A T

(B) e
(C) e s

(D) HuTE™ (F2T5E)

F1 o v ferred] | |l 399 9 =44 fifen

(1)
(2)
(3)

4)

(A)—(@. (B) — dD.
(A)— D). (B) — V).
(A)—@1V). (B) — @.

&) —an. (B) — (.

(C) — ().
(€) - @.

(C) — D).
(C) = dV).

el 1T (Fersmemd )
(I)y ST 918 31
(D)  wAeRfEsEH
(IIL) o HUH

(IV) v favaw safa # e )

(D) — @)
@) — (1)
(D) — (IID)
D) - D

[Question ID = 1020][Question Description = 120_00_General_19_0CT22_Q20]
1. 1 [Option ID = 4077]
2. 2 [Option ID = 4078]
3. 3 [Option ID = 4079]
4. 4 [Option ID = 4080]

16)

What comes next in the following sequence?

0.25, 2.25. 6.25, 12.25,

e foru o sn O serelt ge e EEf
0.25. 2.25, 6.25. 12.25, ?

(1)
(3)

18.25
16.25

2 1925
(4) 2025

(2) 19325
(4 20.25

[Question ID = 1021][Question Description = 121_00_General_19_0CT22_Q21]
1. 1 [Option ID = 4081]
2. 2 [Option ID = 4082]
3. 3 [Option ID = 4083]
4. 4 [Option ID = 4084]

17)

Eavita's age 1s eight yvears more than thrice the sum of the ages of her two grandsons who
are twins. Nine years later. Kavita's age will be one year more than two times the sum of the
ages of her two grandsons. What was the age of Kavita when her grandsons were born?

(1) 58 years
(3) 65 years

(2) 68 vears
4 28 vears



e 1 39 T 21 A=A T F) 38 F A7 F AH A e g awfaw A oad e, Flea A wm ww dEi
il 30 F AW F FH A uF Ad wiaw 21 Flad o gug =0 30 o 9 R qd 0 #a g a?

(1 58 @ 68

(3 65 4 28@

[Question ID = 1022][Question Description = 122_00_General_19_0CT22_Q22]
1. 1 [Option ID = 4085]
2. 2 [Option ID = 4086]
3. 3 [Option ID = 4087]
4. 4 [Option ID = 4088]

18) The population of a bacteria culture doubles every 2 minutes. How many minutes will it take

for the population to grow from 1 to 10247

(1) 10 2) 14
(3) 18 4 20

Afaeion s i qea 20 2 fude 4 o 1 3) Sl s ) gen 118 1024 21 5 J e e
1 qE AT
(1) 10 (2) 14
(3) 18 (4) 20
[Question ID = 1023][Question Description = 123_00_General_19_0CT22_Q23]
1. 1 [Option ID = 4089]
2. 2 [Option ID = 4090]

3. 3 [Option ID = 4091]
4. 4 [Option ID = 4092]

19)

Given below are two statements:
StatementI: A fraction can be reduced to its lowest form by dividing the numerator and
denominator with a common factor.

Statement II: Two fractions can be compared by comparing their numerators if their
denominators are equal.

In the lLght of the above statements, choose the correct answer from the options given
below:

(L Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are false.
(3) Statement [ is true but Statement 1T 1s false

(4) Statement I 1is false but Statement IT is true



4 @1 o 2| v sifuEaa (Assertion A) % w0 1 ffiEd 2 7 250 395 F10 (Reason R) %74

FoA1: Tl = =, #9 8 =EE B o a2 Al s a9 2 B sEvEds | ae g
T =)

Fod IL:  Afedl =t 3 e s 2, o 33 o i qern = g o 4H) fa=i 4 e & e 21

IR A F st H, J v o fee 0 8 ad 3= w1 =99 il

(1) FoH [ 3 A | 8
(2) Fe T30 IS 3/ &
(3) =9 Tued 2, difes o I s 2

(4) U [ 2, effee ouq 1o 2

[Question ID = 1024][Question Description = 124_00_General_19_0CT22_Q24]
1. 1 [Option ID = 4093]
2. 2 [Option ID = 4094]
3. 3 [Option ID = 4095]
4. 4 [Option ID = 4096]

20) )
Price of a mobile is first increased by 20% and later decreased by 25%. What is the net
percentage change in final price of the mobile?

(1) 10% (2) 18%
(3) 20% (4) 12%

wH HIEATEA 1 3 9eel 20% AT Sl 8 W (F 25% HErEn Sdl 2 2iagel # si{on @™ 2 Fe qidvi
ufradd a0 27

1)  10% 2 18%
(3)  20% 4 12%

[Question ID = 1025][Question Description = 125_00_General_19_0CT22_Q25]
1. 1 [Option ID = 4097]
2. 2 [Option ID = 4098]
3. 3 [Option ID = 4099]
4. 4 [Option ID = 4100]

21)  Given below are two statements:

Assertion A:  There are certain psychological conditions under which inference takes
‘place.

Reason R : Absence of pogitive knowledge and will fo infer itz presence or absence are
pre-requisites for inference to be drawn.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) A is true but R 1s false

(4) A 1= false but R 1s true



1 71 %9 fau i 81 v AfaEya (Assertion A) F ¥ H fafiEa 2 41 230 295 %17 (Reason R) & &9 H

AlgFa A -

FER:

Fferrd g aa e feerfera 21l 2 Tormer srmia e farer = 2

HFAHF FH 1 HuE s g il s wefEfy e e SEes o= Ee

FAE &1 zeafa & fere sfam 21

IR F94 & AT °, 94 fFu e Eaen O 4 58 390 & = b

(1
(2)
(3
€3]

A 3 REH w71 & 9 R, A=l o9 = 2)

A 31 REHIHE] 2 31 R, A 1 5 597 34 21
AwFE 2 elfFA R 598 39 21

AHE 7 2 A R A 7

[Question ID = 1026][Question Description = 126_00_General_19_0CT22_Q26]
1. 1 [Option ID = 4101]
2. 2 [Option ID = 4102]
3. 3 [Option ID = 4103]
4. 4 [Option ID = 4104]

22)

Match List T with List IT :

(A)

(B)

(©)

(D)

ListT
Fallacy that occurs due to appeal to non-
rational methods of intimidation

Fallacy that occurs when an argument

makes an appeal to the character of the

person

Fallacy that occurs when an argument is
in the form of emotional "appeal to the
zallery"

Fallacy that accurs when a general rule 1s
apphed to a ease 1n which the rule 1s
inapphecable

List IT
(I) Argumentum ad Hominem
(IT) Accident Fallacy

(ITI) Argumentum ad Populum

(IV) Argumentum ad Baculum (force)

Cheose the correct answer from the options given below:

(1
@)
(3)
(4)

(A)—(D, (B) — ). (©) — D), @) - (IV)
(A —{D. B) - dh (©) - @M. @D — dV)
A -dn. @ - av. © - @. @ — D
(A)—-1V). (B) - @. (C) — (D, (D) - ID



T 15 e 1= I faems o

T e I
(A) sfgam & w-ats falbie & osefe w9 % @ srduey v A
0] 2H 9T feh 2
(B) =t % = F gfaw o AW A a% F (D) e am (e o)
(C) T HTT= 1 Hifed - 1 9Ea® Joe @ () S g (A= T35 1)

(D) = vF e g v agre F e ougw ow (IV) g9 A (smEdes v S9geE)

A1 fau o faei | |2 37w @1 =4 Fifam .

(1) (A-D. B - dh. (©) - dID. D) — aIV)

(2) (A)—{In, @ —an, © —@O, @O —av)

(3) Ay—-1ID. @B — dV). (C) — (@. (D) — (II)

4 @A-aV). ® -0 (© - Jm, D — d)
[Question ID = 1027][Question Description = 127_00_General_19_0CT22_Q27]
1. 1 [Option ID = 4105]
2. 2 [Option ID = 4106]

3. 3 [Option ID = 4107]
4. 4 [Option ID = 4108]

23) ) )
Which of the following is not a fallacy of Ambiguity?
(1)  Egquvocation (2)  Amphiboly
(3) Accent (4) Accident

Fraferfam 4 4 A fasderan @ aahgm (e sie ufmmfe ) a8 27

(1) @l (sFEETERT) 2 e
(3) F=EE-gAE (4  @FEm (vfEEe)

[Question ID = 1028][Question Description = 128_00_General_19_0CT22_Q28]
1. 1 [Option ID = 4109]
2. 2 [Option ID = 4110]
3. 3 [Option ID = 4111]
4. 4 [Option ID = 4112]



24 . . : :
) Gaven below are two statements: One 1s labeled as Assertion A and the other is labeled as

Reason R.

Assertion A: A propername has only denotation but no connotation.

Eeason R : Intension refers to set of adjectives; Extension refers to set of substantives.

In the light of the above statements, choose the correct answer from the options given
helow:

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) A s true but R is false

(4)  Ais false but R is true

19 21 %o e #) v #fiFad (Assertion A) % #1 1 ferfiad 2 1 2871 39% #1001 (Reason R) %9 1 :

Afymee A - safFETEs: aE F dae aread (TeRR) 26 2, S 30 1 (29R) 38 714 21

FOIR: T R (32E) # OnH UETEE B U 42 2] 5 9EEY (THHEIE) B BRd SegarsE
(TeEi=g) = 3

IR FEH ATl 4, J1 fan e fased 0 8 52 s e i)

(1) AR A6 E A R, A9 wd = R

(2) A3 R=EE A9 2 3 R, A oF =mEn ad 2

(3 AwdzailFREG I A

(4  A#HAFE 2 A RAA )
[Question ID = 1029][Question Description = 129_00_General_19_0CT22_Q29]
1. 1 [Option ID = 4113]
2. 2 [Option ID = 4114]

3. 3 [Option ID = 4115]
4. 4 [Option ID = 4116]

25)
If ‘All college professors are entertaining lecturers’ i1s True in a square of opposition which of

the following can be inferred correctly from the given codes.

(A)  ‘No college professors are entertaining lecturers’ is false
(B)  ‘Some college professors are not entertaining lecturers’ is true
(C) ‘Some college professors are entertaiming lecturers’ is true

(D) ‘Some colleze professors are entertaining lecturers’ is false

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) {B) and (C) only
{3) (C) and (D) only

(4) (A) and (C) only



5

Iie “wufl FerE T TEEEF AT & g9 & A et 3 8 Fe-ar e o 5 3 wd 2

(A)  HIE T AR AR ST A B - A R
(B) ¥ el T YIS ST A2 2 | - Hed
(C) ' el W U AT B - Hel 2

(D) ' Fierd A AR AR & - 56 2

A1 v o faamd) 4 8 =58 39 9= Fif

(1) e (A) 31 (B)
(2) =9 (B) 31 (C)
(8)  FAA (C) 3i (D)

(4)  FEE (A) 30 (C)

[Question ID = 1030][Question Description = 130_00_General_19_0CT22_Q30]

1. 1 [Option ID = 4117]
2. 2 [Option ID = 4118]
3. 3 [Option ID = 4119]
4. 4 [Option ID = 4120]

26 4 : . 4 ) ” S P >
) Aman adds a video file to his social networking page. Which one of these describes a video
that has been watched by a lot of people over a short period of time?
(1)  Dagital (2) Tagged
(3) Viral {4) Open source
T A FEIAF AT 0F A v A=A TS ASH 2 T TF SEAatg § aE S ge A T 3,
HiT=41 F1 ARG § 4 [ gAT v =1 51 "% 27

=

(1) Tefoea (2) &=
(3) e (4) s ad

[Question ID = 1031][Question Description = 131_00_General_19_0CT22_Q31]

1. 1 [Option ID = 4121]
2. 2 [Option ID = 4122]
3. 3 [Option ID = 4123]
4. 4 [Option ID = 4124]



27
) Identify the correct order of the following major technalogical changes in computers based on

fourth to first generation of computers.

(A) Microprocessors
(B) Vaccum Tubes

(C)  Integrated Circuits
(D) Transistors

Choose the correct answer from the options given below:

(1 (). (A). D). B
(2) (A.0).B). D)
(3) (A (. (D). (B)
(4 @M). B). A). ()

FO % A9 B TE A F SR W FE § w9 wgE i o o ad wm ) veEe fis)

(A) TSR

(B)  FwH s
(€C) F=Er=ufi
(D)  zif

4 feu o faedi © 8 |98 3 @ = it

(1) (0. (A). (D). (B)
(2) (A). (). (B). (D)
(3) (A), (C), (D). (B)

4 (D) B A).©
[Question ID = 1032][Question Description = 132_00_General_19_0CT22_Q32]
1. 1 [Option ID = 4125]
2. 2 [Option ID = 4126]

3. 3 [Option ID = 4127]
4. 4 [Option ID = 4128]

28) Given below are two statements about Electronic Mail (e-mail) ;

Statement I:  You can create folders fo store and organise yvour emails.

Statement IT: You can add attachments of any file size to an email.

In the light of the above statements. choose the correct answer from the options given

below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are falze.
3 Statement I is true but Statement 11 1s false

(4 Statement I 1s false but Statement I 1s true



H 21 e faw e &) gereiiors Wel (399) = a1 | A )
Fud1 ;AN A7 oA Aafed (2R) q91 Jfa (SnEE) #509 % o wet # fai ae e £

FUATL: 3 Fpee oft @i w15 o 3¢ %1 2 49 4 1S 9 o

IR A & e 8, 1 feu e faed § | ad 3 99 i)

(1) #¥H I3 OZHIEE 2
(2)  FUg I3 IIEH] 9947
(8) T IUAE T, WA F99 11 396 2

(4  weE IageE e, AfE Fua I as #)

[Question ID = 1033][Question Description = 133_00_General_19_0CT22_Q33]
1. 1 [Option ID = 4129]
2. 2 [Option ID = 4130]
3. 3 [Option ID = 4131]
4. 4 [Option ID = 4132]

29)
Which of the following file format contains exclusively the sound file format appropriate for
web distribution?

(A) WMV
(B) WAV
(C) AVI
(D) MOV
(E)y MP3

Choose the correct answer from the options given below:

(L) (B) and (C) only
{2) (B) and (E) only
(3) (A) and (D) only
(4) (A) and (E) only



fr=fefiam 0 8 g wiga sz 4 94 fediegem & v s verie 9 4 |13 Figel e Sl 27

(4)

(B)

(C)

(D)

(E)

Zaey vy A (WMV)
sy U dl (WAV)

u i 37 (AVD)
g = F (MOV)

ug 1 3 (MP3)

e feu o fare 4 5 | 39 s e Fife

(1)
(2)
(3

(4)

Fde (B) 3i11 (C)
Fee (B) 31 (E)
F (A) 30 (D)

F (A) 31 (E)

[Question ID = 1034][Question Description = 134_00_General_19_0CT22_Q34]
1. 1 [Option ID = 4133]
2. 2 [Option ID = 4134]
3. 3 [Option ID = 4135]
4. 4 [Option ID = 4136]

30) Match List T with List IT :

List IT (Deseription)

The action of illegally installing malicious code which
redirects a person to a fradulent wehsite with the
purpoze of obtaining that person's bank details

The action of sending text messages to fraudulently
obtain another person's bank details

(III) The action of sending emails to fraudulently obtain

List I (Technical Term)
(A) Phishing @
(B) Pharming (IT)
(C) Spam
(D) Smishing

another person's bank details

(IV) Unsolicited bulk emails

Choose the correct anawer from the options given below:

(1)
(2)
(3)
(4)

(A)— (D),

(A)—(IV),
(A)— (L.
(A) — (IID).

(B)
(B)
(B)
(B)

— (1LI).
— (I,
—(D.
— (.

(C) = @V). (@O — dDh
(C) — (IID, (D) — dD
(€) — (@V). (D) — D
(€) — 1. @O — aIv)



g T3 &g 4= 1L faerm i ;

T 1 (7T 7m) =1 11 (397)
(A) T 1) 39 =1 7 fagapl == =1 v w= Fi e G oo
=fed o S TSN BT WA H o SEvd W 3 SEE

(B) T (I1) =921 4 5= =412d & 5% (9200 TS 594 % (o0 29 5=
(C) =1 (II) =927 § 377 =t & 5% {5 o 549 % T < fet 9o
(D) feafsm (IV) SFT=a e 3

4= fom e faeed |8 82 3 =1 = il

(1) Ay —-@O. (B — D, (€ — dv), (D) — {dn

(2) (Ay—(IV). (B) — @D. (C) — (IID. (D) — (IO

(3) (&) — (1D, (B) — (M. (C)— {IV). (D) — {II)

(4) (Ay—(IID, (B) — (IO, (C) — D), (D) — {dIw

[Question ID = 1035][Question Description = 135_00_General_19_0CT22_Q35]
1. 1 [Option ID = 4137]
2. 2 [Option ID = 4138]

3. 3 [Option ID = 4139]
4. 4 [Option ID = 4140]

31)
1 mm layer of pure czone gas around earth at normal temperature and pressure is
equivalent to:
(1) 1 Dobs=on Unit (DU) (2) 10DU
(3) 100 DU (4) 0.1 DU
T A AT A W YA F 9 IS A T # L mm e F HATA 2
(1)  1z=fasa gt (DU) (2) 10DU
(3) 100 DU (4) 0.1DU

[Question ID = 1036][Question Description = 136_00_General_19_0CT22_Q36]
1. 1 [Option ID = 4141]
2. 2 [Option ID = 4142]
3. 3 [Option ID = 4143]
4. 4 [Option ID = 4144]



32)  Mateh List T with List IT :

Tist I List IT
(A) Mist (I}  Aerosols consisting of solid particles
(B) Smoke (IT) Aerosols produced by condensation of hot vapours of metals
(C) Fume (I} Photochemical products of VOCs and NOx
(D) Smog (IV) Aerosols consisting of liquid droplets

Choose the correct answer from the options given below:

(L @-av. ® -@O. (© -dd @O - dm
(2) (A — (D)., (B) — dD. (€) — {dV). D) — (@)
(3) (A=), (B) —Idv). (€) —dm. @) — @D
4 (A —1IV), (B) — d. (€ - @ @O — dIh

H= T % a1 10 o ferm <fifam
g I el I
@ 9 (=) (D o o 3w 2 #)
B) o () (D) wirie fomper Fwfor sy o md v < @ 3 g 2
(C) 4 (FM) (IIT) VOCS a4 NOx % Wmi- a4 3773
(D) *E-FTeA (F57) (IV) vipsTe foreid avet Fame 16 2

1= fem o el & |l 397 =1 =23 i

(1) A-a), B -@O (©) - D, (D) — )
(2) (A)—h., B — ), ©) - av), D) — @
(3) (A)— (D). (By — (OIV). (C) — (III). (D) — (D)
(4 (A)—1IV), By — (ID). (C)—(@. (D) — (1)

[Question ID = 1037][Question Description = 137_00_General_19_0CT22_Q37]
1. 1 [Option ID = 4145]
2. 2 [Option ID = 4146]
3. 3 [Option ID = 4147]
4. 4 [Option ID = 4148]



33)

Given below are two statements: One is labeled as Acsertion A and the other is labeled as
Reaszon R.

Assertion A:  Bottom ash generated into the boilers of the thermal power plants are major

cause of nearby rver pollution.

Reason R : The hotwater generated from thermal power plants are discharged into the

nearby rivers.

In the light of the above statements, choose the correct answer from the options given
below:

(1) Both A and R are true and R 1s the correct explanation of A

{(2) Both A and R are true but R 13 NOT the correct explanation of A

(3) Ais true but R 12 false

(4) A is false but R is true

r 21 e faumu 3)

FOT A TREl A TagE @9 (9Ue 9T wE) F ST § 309 A6 0 (WiEd 1) el ) w

TEET W g HE FA 7

FEOMR: AW Taagd 59 9, 309 T8 T Haadl A 0 a5 a2

TR FeA o AT A, 319 faw e fased 0 4 a8 g = fifam

(1)
(2)
(3)

4

A 300 R & wea 7 3 R, A 1 Wt sawen 2
A 3iw R 2 #ed 2 offerd R, A o) 51#f] savean 7 2
A", dfFa R s 2

A3, dABA R AR

[Question ID = 1038][Question Description = 138_00_General_19_0CT22_Q38]
1. 1 [Option ID = 4149]
2. 2 [Option ID = 4150]
3. 3 [Option ID = 4151]
4. 4 [Option ID = 4152]



34)
Given below are two statements:

Statement I :  Chronie toxicity caused due to hazardous wastes is not difficult to determine.

Statement IT: Chronic effects may be seen immediately after the exposure.

In the light of the above statements, choose the most appropriate answer from the options
given
below:

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement IT are incorrect
{3) Statement I 1s correct but Statement IT is Incorrect

(4) Statement I is incorrect but Statement II 1s correct

= 21 3% fau o 2

FUA1 : AT F9 F FE0 309 FEAE GOEET F G9 FE] Sied 925 A

FATL:  Ferelers waa &1 3591 % q7d a1 26 oI A 2|

Ik F9 & e |, A oo nw e § 3 aes 3wes 39w 999 Fifen

(1) @ I I EET a8 2
(2) &9 I 3 I2HI e 21
(3)  FeE IHE 2, A F9a e 7
(4) e DTed 2, i #9a T #

[Question ID = 1039][Question Description = 139_00_General_19_0CT22_Q39]
1. 1 [Option ID = 4153]
2. 2 [Option ID = 4154]
3. 3 [Option ID = 4155]
4. 4 [Option ID = 4156]



35)

What 1= the correct sequence of preparing vermi-compost?

(A)
(B)
(C)
(D)
(E)

Introduction of culture of worms in to the pit.

Lining up with straw or dried grass and leaves

Water the pit once or twice a week

Construction of pit of half square meter area and one meter deep

Putting into pit the organic wastes as and when generated

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(D). (E). (B). (A). (C)
(4), (C). (D). (E). (B)
(E). (A). (B). (O). (D)
(D). (B). (E). (A). ()

i e e (afd ez & Fuiv 1 ad sggn e

(A)

(B)

(C)

D)

(E)

3G H FEA] (FE1) F HAE 7 I FH] F7|

T AT P A S AT F EE S

Ao U UF =W 91 5 G0 TS § I o

wE HT S A T (At 952) e A 34 Tes ° s

it 2o am feepeddi @ & ol 3 =0 = fifau

(1)
(2)
(3)
(4)

(D). (E). (B). (A). (©)
(A). (C). (D), (E). (B)
(E). (A), (B). (C). (D)
(D). (B). (E). (A). ()

[Question ID = 1040][Question Description = 140_00_General_19_0CT22_Q40]
1. 1 [Option ID = 4157]
2. 2 [Option ID = 4158]
3. 3 [Option ID = 4159]
4. 4 [Option ID = 4160]



36)

The reforms initiated under the Rashirya Uchchattar Shiksha Abhivaan (RUSA) aim at:

(A)  Push for greater accountability and autonomy of state institutions

(B) Improving the guality of education and infrastructure

(C) Formulation of stringent regulations to curb commercialization of higher education
(D) Increase iIn GER upto 50 percent

(E) Efficient monitoring and eontinuous feedback mechanism

Choose the correct answer from the options given below:

(1) (A). (B) and (C) only
(2)  (A)and (B) only

(3) (A). (B). (C) and (D) only
(4)  (B).(C), (D) and (E) only

e T e firm (3702 va ) & sreria fad o a2 @ Ige 2

(A)
(B)
(©)
(D)

(E)
Eie]
(1)
(2)

{(3)

(4)

1T Heenad o) sferen fonerd aen = o aet 291

Fra den syeErT o qurEe 4 R FE)

=== for = arsg R T e e e e
13 AW 1 g 50 9l

FREH fr aen we wfagfe 6

fizn 1o el § 4wl 3w o1 = il

FAd (A), (B) 311 (C)
Fad (A) 31 (B)
FAd (A). (B). (C) 3 (D)

Fad (B). (C). (D) 3 (E)

[Question ID = 1041][Question Description = 141_00_General_19_0CT22_Q41]
1. 1 [Option ID = 4161]
2. 2 [Option ID = 4162]
3. 3 [Option ID = 4163]
4. 4 [Option ID = 4164]

37)

According to National Education Policy (2020), National Higher Education Regulatory
Council will be the single point regulator for all disciplines except

(1) Teacher Education

{2} Medical and Legal education

(3)  Agricultural sciences

4) Management



T e Hitg (2020) F wEw 3= e e gt FeiEtes 8 9 s see ad B 5

(1)  Tos Tom

2y Tafwedm a7 Tt fe
(3)  F fame

4 T

[Question ID = 1042][Question Description = 142_00_General_19_0CT22_Q42]
1. 1 [Option ID = 4165]
2. 2 [Option ID = 4166]
3. 3 [Option ID = 4167]
4. 4 [Option ID = 4168]

38)

Identify the correct sequence in decreasing order in terms of number of universitiez in the

State

(A) Gujarat

(B) Uttar Pradesh
(C) Rajasthan

(i Karnataka

(E) Madhyva Pradesh

Choose the correct answer from the options given below:

(1)
()
(3)
(4)

(A). (B). (C). (D). (E)
(B). (C). (D). (A). (E)
(C). (B). (D). (A). (E)
(C). (B). (A). (D). (E)

1= ° favafaearaa f) den & g9 d 59 33908 %9 i veaE Fifs

(A)
(B)
(C)
(D)
(E)

e
ECRREE]
RECIE
g Hem]

41 T o fasedi 0 3 a1 3@ @ =99 ife

1)
(2)
(3)
(4)

(A). (B). (C). (D). (E)
(B). (C), (D), (A), (E)
(C). (B). (D). (A). (E)
(C), (B), (A). (D). (E)

[Question ID = 1043][Question Description = 143_00_General_19_0CT22_Q43]
1. 1 [Option ID = 4169]
2. 2 [Option ID = 4170]
3. 3 [Option ID = 4171]
4. 4 [Option ID = 4172]



[Question ID = 1044][Question Description = 144_00_General_19_0CT22_Q44]
1 [Option ID = 4173]
2 [Option ID = 4174]
3 [Option ID = 4175]
4 [Option ID = 4176]

AW N =

39)

Match List T with List 1T :
ListI ListIT
(A) National Education Policy Iy 1993
(B) National Poliey on Education (I 2009
{€) National Knowledee Commission (III) 1986
(D) Learning without burden Report of (IV) 2020

the National Advisory Committee

Choose the correct answer from the options given below:

(1) (A)-av). (B) — @, (€ — L. D) — @

2 @-@V). B - @) ©) -O. O — 1D

(3 @A-Iv) (B —dn. («© —dd. @O —@d

4 @A-@). B -0 (© -0 O - {Jm
= 1w = 1 faem #ifsm

i 1 A1 1T
(A) i fren i (A3 vsEE i) @ 1993
(B)  Toren sqmel oy Hife (dumel Wi s usdeE) (D) 2009
(C) T 3T s (III) 1986
(D) Ty weresn afufa 6 vm fada stfomg foord IV) 2020

At o o fepsped 4wl a2 1 1 e

(1) @A-0av). @B -
(2  A-av). @ -
(3  (A)-

4  (A-=0dV)

(I. (C) — dn. M — @O
I, ) —@. D - ({D

Iv). (B) — D, (C) - dn, M) — @

(B) —

@ (€ -dh. @) — {@h



40)
Given below are two statements: One i labeled as Assertion A and the other 1= labeled as

Reason R.

Assertion A:  Umniversities play a kev role in building a symbiotic relationship between the

nation. state and society

Reason R : Universities are centres for creation and transmission of knowledge

In the light of the above statements, chooze the correct answer from the options given
below:

(1) Both A and R are correct and R is the correct explanation of A
2) Both A and R are correct but R 1= NOT the correct explanation of A
3 A i3 correct but R iz not correct

(4) A 1s not correct but R is correct

414 21 e fau o B ) vk AiaA (Assertion A) % ®1 1 fafiad 2 91 201 39F FF0 (Reason R) F &7 1

AFAT A ;. ETETaeaEE WL, T G491 TAT & S Fesiie gud & [HE A T g [ee 2

Fr R: (ol T F g9 A9 T w5 A

FTTF & & e 8, oo e 8 9 ad 3 e | i

(1)  Asil RaH & 2 5 R, A 78 smen 2
(2) Al RaH A E 3t R, A6 w =men 6 2
(3)  A#A el REH A4 8l

4 A=A R EAFE REA A

[Question ID = 1045][Question Description = 145_00_General_19_0CT22_Q45]
1. 1 [Option ID = 4177]
2. 2 [Option ID = 4178]
3. 3 [Option ID = 4179]
4. 4 [Option ID = 4180]

Topic:- 11_GP_SH1_Set1_C



1)
Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role In economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.
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What can bring the social opportunities within the reach of the people?

(1) The government directives (2) Economie literature
{(3)  Actions of the pubhec (4) Success of social change
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[Question ID = 1046][Question Description = 146_00_General_19_0CT22_Q46]
1. 1 [Option ID = 4181]
2. 2 [Option ID = 4182]



3. 3 [Option ID = 4183]
4. 4 [Option ID = 4184]

2)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. not as action by the
public itself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of publc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary educatien. social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of these essential
services but also In monitoring their functioming. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it ecan get its
volce heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a loeal
pressure in that direction. hetter than the directions from the above.
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Positive functions of the government can be supported by :

(1)  Public influence on policy-decisions

(2) Focussing on education and social security
(3) Centralised power structure

(4) Top-down. one way general instructions
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[Question ID = 1047][Question Description = 147_00_General_19_0CT22_Q47]
1. 1 [Option ID = 4185]
2. 2 [Option ID = 4186]
3. 3 [Option ID = 4187]
4. 4 [Option ID = 4188]

3)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural mmfrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of theze essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a loeal
pressure in that direction. better than the directions from the above.
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Adequate monitoring of public services is possible through :

(1) Expansion of essential services (2) Improvement in quality of services

(3) Increasing social inclusivity (4) Effective public activism
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[Question ID = 1048][Question Description = 148_00_General_19_0CT22_Q48]
1 [Option ID = 4189]
2 [Option ID = 4190]
3 [Option ID = 4191]
4 [Option ID = 4192]
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4)

Read the passage carefully and answer the questions that follow (Q, 46-30) :

Public action. in a broad sense. can play a central role In economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economie literature as action by the government. not as action by the
public 1tself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound sigmificance to the successes and fallures of economic
and social change In general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also Im momtoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be. in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a local
pressure in that direction. better than the directions from the above.
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The effective gquality of servicés depends upon malang :

(1) Stricter rules for implementation
(2) Local community involved

(3) Redressal of grievances

(4) Strong government vigilance
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[Question ID = 1049][Question Description = 149_00_General_19_0CT22_Q49]
1. 1 [Option ID = 4193]
2. 2 [Option ID = 4194]
3. 3 [Option ID = 4195]
4. 4 [Option ID = 4196]

5)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
1s characterised in the economic hiterature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of sovernmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of pubhc
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care. child immunisation. primary education. social security.
environmental protection and rural mmfrastructure. The vigilance and involvement of the
public ¢an be quite crucial not only in ensuring an adequate expansion of theze essential
services but also In monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, In principle available often depends a great deal
on the information that the local community zathers and the extent to which it can get its
voice heard. The shirking and ahzenteeism of village teachers for example are much more
easily observed by the wvillagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there 1s a loeal
pressure in that direction. better than the directions from the above.
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What does the passage advocate to make services sensitive to public needs?
(1) Pressure by beneficiaries
(2) Information gathering
(3) Government monitoring
(4 Checking absenteeism among public employees
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[Question ID = 1050][Question Description = 150_00_General_19_0CT22_Q50]
1. 1 [Option ID = 4197]
2. 2 [Option ID = 4198]

3. 3 [Option ID = 4199]
4. 4 [Option ID = 4200]






